
CODE ITEMS SPECIFICATION         Price

REAR WHEEL HUBS WITH SCREW STUD - Aluminium - Ø 25

MZ001 Wheel hub Ø 25 x 40 mm - 6 mm and 8 mm keys - Anod. GOLD 31.25
MZ044 Wheel hub Ø 25 x 55 mm - 6 mm and 8 mm keys - Anod. GOLD 34.09
MZ002 Wheel hub Ø 25 x 65 mm - 6 mm and 8 mm keys - Anod. GOLD 37.70
MZ003 Wheel hub Ø 25 x 75 mm - 6 mm and 8 mm keys - Anod. GOLD 39.25
MZ004 Wheel hub Ø 25 x 95 mm - 6 mm and 8 mm keys - Anod. GOLD 46.74

�������������	
������

����
����������������������

MZ005 Wheel hub Ø 30 x 65 mm - 6 mm and 8 mm keys - Anod. GOLD 37.70
MZ006 Wheel hub Ø 30 x 75 mm - 6 mm and 8 mm keys - Anod. GOLD 39.25
MZ007 Wheel hub Ø 30 x 95 mm - 6 mm and 8 mm keys - Anod. GOLD 46.74
MZ010 Wheel hub Ø 30 x 125 mm - 6 mm and 8 mm keys - Anod. GOLD 58.10

MZ008 Wheel hub Ø 30 x 120 mm - 6 mm and 8 mm keys - RENT 46.48

MZ011 Wheel hub Ø 35 x 65 mm - 8 mm key - Anod. GOLD 37.70
MZ012 Wheel hub Ø 35 x 75 mm - 8 mm key - Anod. GOLD 38.22
MZ013 Wheel hub Ø 35 x 95 mm - 8 mm key - Anod. GOLD 45.96
MZ014 Wheel hub Ø 35 x 125 mm - 8 mm key - Anod. GOLD 58.10

MZ037 Wheel hub Ø 40 x 55 mm - 8 mm key - with sep. brass ring - Anod. GOLD 40.03
MZ037BL Wheel hub Ø 40 x 55 mm - 8 mm key - with sep. brass ring - Anod. BLUE 40.03
MZ037RS Wheel hub Ø 40 x 55 mm - 8 mm key - with sep. brass ring - Anod. RED 40.03
MZ037TT Wheel hub Ø 40 x 55 mm - 8 mm key - with sep. brass ring - Anod. TITANIUM 40.03

MZ045 Wheel hub Ø 40 x 55 mm -  8 mm key - without spigot - Anod. GOLD 33.05
MZ045BL Wheel hub Ø 40 x 55 mm -  8 mm key - without spigot - Anod. BLUE 33.05
MZ045RS Wheel hub Ø 40 x 55 mm -  8 mm key - without spigot - Anod. RED 33.05
MZ045TT Wheel hub Ø 40 x 55 mm -  8 mm key - without spigot - Anod. TITANIUM 33.05

REAR WHEEL HUBS

�������������	
������

����
�����������������������������

�������������	
������

����
����������������������

�������������	
������

����
����������������������

Pricelist SKM 2003
Page 1



CODE ITEMS SPECIFICATION         Price

MZ018 Wheel hub Ø 40 x 65 mm - 8 mm key - with sep. ring - Anod. GOLD 43.38
MZ018BL Wheel hub Ø 40 x 65 mm - 8 mm key - with sep. ring - Anod. BLUE 43.38
MZ018RS Wheel hub Ø 40 x 65 mm - 8 mm key - with sep. ring - Anod. RED 43.38
MZ018TT Wheel hub Ø 40 x 65 mm - 8 mm key - with sep. ring - Anod. TITANIUM 43.38

MZ046 Wheel hub Ø 40 x 65 mm -  8 mm key - without spigot - Anod. GOLD 35.89
MZ046BL Wheel hub Ø 40 x 65 mm -  8 mm key - without spigot - Anod. BLUE 35.89
MZ046RS Wheel hub Ø 40 x 65 mm -  8 mm key - without spigot - Anod. RED 35.89
MZ046TT Wheel hub Ø 40 x 65 mm -  8 mm key - without spigot - Anod. TITANIUM 35.89

MZ017 Wheel hub Ø 40 x 65 mm - 8 mm key - Anod. GOLD 36.67
MZ017BL Wheel hub Ø 40 x 65 mm - 8 mm key - Anod. BLUE 36.67
MZ017RS Wheel hub Ø 40 x 65 mm - 8 mm key - Anod. RED 36.67
MZ017TT Wheel hub Ø 40 x 65 mm - 8 mm key - Anod. TITANIUM 36.67

MZ019 Wheel hub Ø 40 x 75 mm - 8 mm key - Anod. GOLD 38.22
MZ019BL Wheel hub Ø 40 x 75 mm - 8 mm key - Anod. BLUE 38.22
MZ019RS Wheel hub Ø 40 x 75 mm - 8 mm key - Anod. RED 38.22
MZ019TT Wheel hub Ø 40 x 75 mm - 8 mm key - Anod. TITANIUM 38.22

MZ020 Wheel hub Ø 40 x 85 mm - 8 mm key - Anod. GOLD 43.38

MZ021 Wheel hub Ø 40 x 95 mm - 8 mm key - Anod. GOLD 46.74
MZ021BL Wheel hub Ø 40 x 95 mm - 8 mm key - Anod. BLUE 46.74
MZ021RS Wheel hub Ø 40 x 95 mm - 8 mm key - Anod. RED 46.74
MZ021TT Wheel hub Ø 40 x 95 mm - 8 mm key - Anod. TITANIUM 46.74

MZ023 Wheel hub Ø 40 x 125 mm - 8 mm key - Anod. GOLD 58.10
MZ023BL Wheel hub Ø 40 x 125 mm - 8 mm key - Anod. BLUE 58.10
MZ023RS Wheel hub Ø 40 x 125 mm - 8 mm key - Anod. RED 58.10
MZ023TT Wheel hub Ø 40 x 125 mm - 8 mm key - Anod. TITANIUM 58.10

MZ025 Wheel hub Ø 40 x 145 mm - 8 mm key - Anod. GOLD 68.43

�������������	
������

����
����������������������

Pricelist SKM 2003
Page 2



CODE ITEMS SPECIFICATION         Price

MZ047TT Wheel hub Ø 45 x 95 mm - 8 mm key - Anod. TITANIUM 51.26

MZ032 Wheel hub Ø 50 x 75 mm - 8 mm key - Anod. GOLD 42.87
MZ032BL Wheel hubØ 50 x 75 mm - 8 mm key - Anod. BLUE 42.87
MZ032RS Wheel hub Ø 50 x 75 mm - 8 mm key - Anod. RED 42.87
MZ032TT Wheel hub Ø 50 x 75 mm - 8 mm key - Anod. TITANIUM 42.87

MZ026 Wheel hub Ø 50 x 95 mm - 8 mm key - Anod. GOLD 50.35
MZ026BL Wheel hubØ 50 x 95 mm - 8 mm key - Anod. BLUE 50.35
MZ026RS Wheel hub Ø 50 x 95 mm - 8 mm key - Anod. RED 50.35
MZ026TT Wheel hub Ø 50 x 95 mm - 8 mm key - Anod. TITANIUM 50.35

MZ027 Wheel hub Ø 50 x 125 mm - 8 mm key - Anod. GOLD 64.04
MZ027BL Wheel hub Ø 50 x 125 mm - 8 mm key - Anod. BLUE 64.04
MZ027RS Wheel hub Ø 50 x 125 mm - 8 mm key - Anod. RED 64.04
MZ027TT Wheel hub Ø 50 x 125 mm - 8 mm key - Anod. TITANIUM 64.04

MZ028MG Wheel hub Ø 40 x 75 mm - 8 mm key - Magnesium 63.78
MZ022MG Wheel hub Ø 40 x 95 mm - 8 mm key - Magnesium 72.30
MZ024MG Wheel hub Ø 40 x 125 mm - 8 mm key - Magnesium 83.92

MZ034MG Wheel hub Ø 50 x 75 mm - 8 mm key - Magnesium  M24 76.51
MZ035MG Wheel hub Ø 50 x 95 mm - 8 mm key - Magnesium M24 81.01

�������������	
�������� !�����"�������������������

�������������	
�������� !�����"�������������������

�������������	
�������� !�����"���#$%�!�����������

�������������	
�������� !�����"���#$%�!�����������

Pricelist SKM 2003
Page 3



CODE ITEMS SPECIFICATION         Price

MZ015 Front wheel hub for 100 cc. with bearings - 58 mm long - Anod. GOLD 43.38
MZ015BL Front wheel hub for 100 cc. with bearings - 58 mm long - Anod. BLUE 43.38
MZ015RS Front wheel hub for 100 cc. with bearings - 58 mm long - Anod. RED 43.38
MZ015TT Front wheel hub for 100 cc. with bearings - 58 mm long - Anod. TITANIUM 43.38

MZ036 Front wheel hub for 100 cc. with bearings - 75 mm long - Anod. GOLD 47.77
MZ036BL Front wheel hub for 100 cc. with bearings - 75 mm long - Anod. BLUE 47.77
MZ036RS Front wheel hub for 100 cc. with bearings - 75 mm long - Anod. RED 47.77
MZ036TT Front wheel hub for 100 cc. with bearings - 75 mm long - Anod. TITANIUM 47.77

MZ033 Front wheel hub for 100 cc. with bearings  - 95 mm long - Anod. GOLD 50.35
MZ033BL Front wheel hub for 100 cc. with bearings  - 95 mm long - Anod. BLUE 50.35
MZ033RS Front wheel hub for 100 cc. with bearings  - 95 mm long - Anod. RED 50.35
MZ033TT Front wheel hub for 100 cc. with bearings  - 95 mm long - Anod. TITANIUM 50.35

 

AR119 M6 x 48 x 15 x 15 mm double threading screw for Front wheel hub - Tropicalized 2.19

AR120 M8 x 35 x 15 x 15 mm double threading screw for Rear wheel hub - Tropicalized 1.68

&�'�����������	


&�'�����������	
�������� !�����"���������������() �*�����+�



����
���
�() ���������	
�

Pricelist SKM 2003
Page 4



CODE ITEMS SPECIFICATION         Price

PD005 Brake disk support Ø 25 mm - 6 mm and 8 mm keys - standard type - Anod. GOLD 46.48
PD006 Brake disk support Ø 30 mm - 6 mm and 8 mm keys - standard type - Anod. GOLD 46.48
PD007 Brake disk support Ø 35 mm - 8 mm key - standard type - Anod. GOLD 46.48

PD008 Brake disk support Ø 40 mm - 8 mm key - standard type - Anod. GOLD 46.48
PD008BL Brake disk support Ø 40 mm - 8 mm key - standard type - Anod. BLUE 46.48
PD008RS Brake disk support Ø 40 mm - 8 mm key - standard type - Anod. RED 46.48
PD008TT Brake disk support Ø 40 mm - 8 mm key - standard type - Anod. TITANIUM 46.48

PD011 Brake disk support Ø 25 mm - 6 mm and 8 mm keys - H.Q. type - Anod. GOLD 51.65
PD012 Brake disk support Ø 30 mm - 6 mm and 8 mm keys - H.Q. type - Anod. GOLD 51.65
PD013 Brake disk support Ø 35 mm - 8 mm key - H.Q. type - Anod. GOLD 51.65

PD014 Brake disk support Ø 40 mm - 8 mm key - H.Q. type - Anod. GOLD 51.65
PD014BL Brake disk support Ø 40 mm - 8 mm key - H.Q. type - Anod. BLUE 51.65
PD014RS Brake disk support Ø 40 mm - 8 mm key - H.Q. type - Anod. RED 51.65
PD014TT Brake disk support Ø 40 mm - 8 mm key - H.Q. type - Anod. TITANIUM 51.65

PD015 Brake disk support Ø 50 mm - 8 mm key - H.Q. type - Anod. GOLD 51.65
PD015BL Brake disk support Ø 50 mm - 8 mm key - H.Q. type - Anod. BLUE 51.65
PD015RS Brake disk support u 50 mm - 8 mm key - H.Q. type - Anod. RED 51.65
PD015TT Brake disk support Ø 50 mm - 8 mm key - H.Q. type - Anod. TITANIUM 51.65

PD020 Brake disk support Ø 25 mm - 6 mm key for disk Ø 160 Mini & Babykart - Anod. GOLD 28.51
PD021 Brake disk support Ø 30 mm - 6 mm key for disk Ø 160 Minikart - Anod. GOLD 28.51

 

PD016MG Brake disk support Ø 40 mm - 8 mm key - MG - BLACK treatment 52.76  
PD018MG Brake disk support Ø 50 mm - 8 mm key - MG - BLACK treatment 52.76  

	��,����
,�
�--'��


	��,����
,�
�--'�����������������
��+���.-�

	��,����
,�
�--'�����������������/��0��1�����./��.-�

	��,����
,�
�--'���
#�����������0��������	�	.�$�"�#���,����#'�+

	��,����
,�
�--'�����#2��#$%�!�����

Pricelist SKM 2003
Page 5



CODE ITEMS SPECIFICATION         Price

PC005 Sprocket support Ø 25 mm - 6 mm and 8 mm keys - standard type - Anod. GOLD 50.61
PC006 Sprocket support Ø 30 mm - 6 mm and 8 mm keys - standard type - Anod. GOLD 50.61
PC007 Sprocket support Ø 35 mm - 8 mm key - standard type - Anod. GOLD 50.61

PC008 Sprocket support Ø 40 mm - 8 mm key - standard type - Anod. GOLD 50.61
PC008BL Sprocket support Ø 40 mm - 8 mm key - standard type - Anod. BLUE 50.61
PC008RS Sprocket support Ø 40 mm - 8 mm key - standard type - Anod. RED 50.61
PC008TT Sprocket support Ø 40 mm - 8 mm key - standard type - Anod. TITANIUM 50.61

PC009 Sprocket support Ø 25 mm - 6 mm and 8 mm keys - H.Q. type - Anod. GOLD 60.32
PC010 Sprocket support Ø 30 mm - 6 mm and 8 mm keys - H.Q. type - Anod. GOLD 60.32
PC011 Sprocket support Ø 35 mm - 8 mm key - H.Q. type - Anod. GOLD 60.32

PC012 Sprocket support Ø 40 mm - 8 mm key - H.Q. type - Anod. GOLD 60.32
PC012BL Sprocket support Ø 40 mm - 8 mm key - H.Q. type - Anod. BLUE 60.32
PC012RS Sprocket support Ø 40 mm - 8 mm key - H.Q. type - Anod. RED 60.32
PC012TT Sprocket support Ø 40 mm - 8 mm key - H.Q. type - Anod. TITANIUM 60.32

PC013 Sprocket support Ø 50 mm - 8 mm key - H.Q. type - Anod. GOLD 60.32
PC013BL Sprocket support Ø 50 mm - 8 mm key - H.Q. type - Anod. BLUE 60.32
PC013RS Sprocket support Ø 50 mm - 8 mm key - H.Q. type - Anod. RED 60.32
PC013TT Sprocket support Ø 50 mm - 8 mm key - H.Q. type - Anod. TITANIUM 60.32

PC014MG Sprocket support Ø 40 mm - 8 mm key - M24 Magnesium Casting 62.76  
PC015MG Sprocket support Ø 50 mm - 8 mm key - M24 Magnesium Casting 64.88  


-�'
,���
�--'��



-�'
,���
�--'�����������������
��+��.-��


-�'
,���
�--'�����������������/��0��1�����./��.-�


-�',���
�--'�����#2��#$%�!�����

Pricelist SKM 2003
Page 6



CODE ITEMS SPECIFICATION         Price

GC001 Bearing bush Ø 25 mm - small drilling - Anod. GOLD 18.80
GC002 Bearing bush Ø 30 mm - Anod. GOLD 18.80
GC003 Bearing bush Ø 35 mm - Anod. GOLD 18.80
GC004 Bearing bush Ø 40 mm - Anod. GOLD 18.80

GC013 Half bearing bush Ø 40 mm - Anod. GOLD 10.54
GC013BL Half bearing bush Ø 40 mm - Anod. BLUE 10.54
GC013RS Half bearing bush Ø 40 mm - Anod. RED 10.54
GC013TT Half bearing bush Ø 40 mm - Anod. TITANIUM 10.54

GC018 Bearing bush Ø 40 mm - 2002 Mod. ( 4 Holes clamping ) - Anod. GOLD 42.35
GC018BL Bearing bush Ø 40 mm - 2002 Mod. ( 4 Holes clamping ) - Anod. BLUE 42.35
GC018RS Bearing bush Ø 40 mm - 2002 Mod. ( 4 Holes clamping ) - Anod. RED 42.35
GC018TT Bearing bush Ø 40 mm - 2002 Mod. ( 4 Holes clamping ) - Anod. TITANIUM 42.35

GC014 Bearing bush Ø 50 mm - 2002 Mod. ( 4 Holes clamping ) - Anod. GOLD 44.42
GC014BL Bearing bush Ø 50 mm - 2002 Mod. ( 4 Holes clamping ) - Anod. BLUE 44.42
GC014RS Bearing bush Ø 50 mm - 2002 Mod. ( 4 Holes clamping ) - Anod. RED 44.42
GC014TT Bearing bush Ø 50 mm - 2002 Mod. ( 4 Holes clamping ) - Anod. TITANIUM 44.42

GC005 Bearing bush Ø 25 mm - small drilling with inclined lock screw and threaded pins - Anod. GOLD 19.63

GC016 Bearing bush Ø 25 mm - wide drilling with inclined lock screw and threaded pins - Anod. GOLD 20.86

GC017 Bearing bush Ø 30 mm-small drilling with incl. lock screw and threaded pins-Anod. GOLD 20.04

GC006 Bearing bush Ø 30 mm with inclined lock screw and threaded pins - Anod. GOLD 20.86

GC007 Bearing bush Ø 35 mm with inclined lock screw and threaded pins - Anod. GOLD 20.86

	�����0�	�
��


	�����0�	�
��
�3����2��4������4��������+�������)����� !�

���&�	�����0�	�
��
�3���������+

	�����0�	�
��
�3�������##+���#'�+�2��2��5����)�!��
�$�6��%�7

	�����0�	�
��
�3������##+���#'�+�2��2�5����)�!��
�$�6��%�7

��2������������	�����0�	�
��
������������!"��� !��$�"��� !$"!"�6���

Pricelist SKM 2003
Page 7



CODE ITEMS SPECIFICATION         Price

GC008 Bearing bush Ø 40 mm - inclined lock screw - Anod. GOLD 23.76
GC008BL Bearing bush Ø 40 mm -  inclined lock screw  - Anod. BLUE 23.76
GC008RS Bearing bush Ø 40 mm -  inclined lock screw  - Anod. RED 23.76
GC008TT Bearing bush Ø 40 mm -  inclined lock screw  - Anod. TITANIUM 23.76

GC009 Bearing bush Ø 40 mm with through lock screw - Anod. GOLD 20.04
GC009BL Bearing bush Ø 40 mm with through lock screw - Anod. BLUE 20.04
GC009RS Bearing bush Ø 40 mm with through lock screw - Anod. RED 20.04
GC009TT Bearing bush Ø 40 mm with through lock screw - Anod. TITANIUM 20.04

NOTE

	�����0�	�
��
������������!"��� !���������##+�

	�����0�	�
��
�������� )�%���� !���������##+�

With the bearing bushes GC009 it's possible the fitting of the Ø 50 mm small bearing ( CU010 ) 

Pricelist SKM 2003
Page 8



CODE ITEMS SPECIFICATION         Price

AX001 Solid axle Ø 25 x 960 mm - 6 mm key - for MINIKART and BABYKART - 5 Keys 53.10
AX002 Solid axle Ø 25 x 960 mm - 8 mm key - for MINIKART and BABYKART - 5 Keys 53.10

AX003 Solid axle Ø 25 x 1000 mm - 6 mm key - for MINIKART  - 5 Keys 56.24
AX004 Solid axle Ø 25 x 1000 mm - 8 mm key - for MINIKART - 5 Keys 56.24

AX005 Solid axle Ø 25 x 1000 mm - 6 mm key - 5 Keys 61.59
AX006 Solid axle Ø 25 x 1000 mm - 8 mm key - 5 Keys 61.59

AX007 Solid axle Ø 30 x 1000 mm - 6 mm key - RENT - 4 Keys 60.43
AX008 Solid axle Ø 30 x 1000 mm - 8 mm key - RENT - 4 Keys 60.43

AX009 Solid axle Ø 30 x 1040 mm - 6 mm key - 5 Keys 63.91
AX010 Solid axle Ø 30 x 1040 mm - 8 mm key - 5 Keys 63.91

AX039 Holed axle Ø 30 x 5 x 1000 mm - 6 mm key - for MINIKART - 5 Keys 81.81
AX011 Holed axle Ø 30 x 5 x 1040 mm - 6 mm key 83.67
AX012 Holed axle Ø 30 x 5 x 1040 mm - 8 mm key 83.67

AX013 Holed axle Ø 35 x 4,5 x 1040 mm 91.80

AX020 Holed axle Ø 40 x 2.9 x 1000 mm A TYPE - kg. 40  (soft) - Universal  5 Keys 91.46
AX021 Holed axle Ø 40 x 2.9 x 1000 mm B TYPE - kg. 50  (standard) - Universal  5 Keys 92.60
AX026 Holed axle Ø 40 x 2.9 x 1000 mm C TYPE - kg. 75  (hard) - Universal  5 Keys 93.75

AX022 Holed axle Ø 40 x 2.9 x 1020 mm A TYPE - kg. 40  (soft) - Universal  5 Keys 91.46
AX023 Holed axle Ø 40 x 2.9 x 1020 mm B TYPE - kg. 50  (standard) - Universal  5 Keys 92.60
AX027 Holed axle Ø 40 x 2.9 x 1020 mm C TYPE - kg. 75  (hard) - Universal  5 Keys 93.75

AX014 Holed axle Ø 40 x 2.7 x 1040 mm A TYPE - kg. 40  (soft) - Universal  5 Keys 91.46

�8��



'������8�����2��##+


'������8��������##+

�'�����8��������##+

�'�����8��������##+

�'�����8��������##+

Pricelist SKM 2003
Page 9



CODE ITEMS SPECIFICATION         Price

AX040 Holed axle Ø 40 x 2.9 x 1040 mm A TYPE - kg. 40  (soft) - Universal  5 Keys 91.46
AX015 Holed axle Ø 40 x 2.9 x 1040 mm B TYPE - kg. 50  (standard) - Universal  5 Keys 92.60
AX016 Holed axle Ø 40 x 2.9 x 1040 mm C TYPE - kg. 75  (hard) - Universal  5 Keys 93.75

AX030 Holed axle Ø 40 x 2.9 x 1040 mm A TYPE kg. 40  (soft) - 4 Keys for 100 cc. 91.46
AX032 Holed axle Ø 40 x 2.9 x 1040 mm B TYPE kg. 50  (standard) - 4 Keys for 100 cc. 92.60
AX036 Holed axle Ø 40 x 2.9 x 1040 mm C TYPE - kg. 75 (hard) - 4 Keys for 100 cc. 93.75

AX031 Holed axle Ø 40 x 2.9 x 1040 mm A TYPE - kg. 40 (soft) 4 Keys - for 125 cc. 91.46
AX033 Holed axle Ø 40 x 2.9 x 1040 mm B TYPE kg. 50 (standard) - 4 Keys for 125 cc. 92.60
AX037 Holed axle Ø 40 x 2.9 x 1040 mm C TYPE - kg. 75 (hard) - 4 Keys for 125 cc. 93.75

AX034 Holed axle Ø 40 x 2.2 x 1040 mm Special-purpose (A) - 4 Keys for 100 cc. 100.61

AX035 Holed axle Ø 40 x 2.2 x 1040 mm Special-purpose (A) - 4 Keys for 125 cc. 100.61

AX017 Holed axle Ø 40 x 2.9 x 1060 mm A TYPE - kg. 40  (soft) - Universal  5 Keys 93.75
AX018 Holed axle Ø 40 x 2.9 x 1060 mm B TYPE - kg. 50  (standard) - Universal  5 Keys 94.89
AX019 Holed axle Ø 40 x 2.9 x 1060 mm C TYPE - kg. 75  (hard) - Universal  5 Keys 96.04

AX053 Holed axle Ø 50 x 2.0 x 1020 mm A TYPE - kg. 40  (soft) - for 100 cc. 110.39
AX054 Holed axle Ø 50 x 2.0 x 1020 mm B TYPE - kg. 55  (standard) - for 100 cc. 110.39
AX055 Holed axle Ø 50 x 2.0 x 1020 mm C TYPE - kg. 75  (hard) - for 100 cc. 110.39

AX028 Holed axle Ø 50 x 2.0 x 1040 mm A TYPE - kg. 40  (soft) - for 100 cc. 110.39
AX025 Holed axle Ø 50 x 2.0 x 1040 mm B TYPE - kg. 55  (standard) - for 100 cc. 110.39
AX029 Holed axle Ø 50 x 2.0 x 1040 mm C TYPE - kg. 75  (hard) - for 100 cc. 110.39

AX050 Holed axle Ø 50 x 2.0 x 1040 mm A TYPE - kg. 40 (soft) with bush - for 125 cc. 114.28
AX051 Holed axle Ø 50 x 2,0 x 1040 mm B TYPE Kg. 55 (standard) with bush - for 125 cc. 114.28
AX052 Holed axle Ø 50 x 2,0 x 1040 mm C TYPE Kg. 75 (hard) with bush - for 125 cc. 114.28

AX038 Holed axle Ø 50 x 1,45 x 1040 mm “Racing Special” - “SA/100” – only for 100 cc 126.66
AX056 Holed axle Ø 50 x 3 x 1020 mm - R type 162.64

�'�����8��������##+

�'�����8��������##+

Pricelist SKM 2003
Page 10



CODE ITEMS SPECIFICATION         Price

AX040NR Holed axle Ø 40 x 2.9 x 1040 mm A TYPE - kg. 40  (soft) - Universal  5 Keys - Blacked 113.46
AX015NR Holed axle Ø 40 x 2.9 x 1040 mm B TYPE - kg. 50  (standard) - Universal  5 Keys - Blacked 113.46
AX016NR Holed axle Ø 40 x 2.9 x 1040 mm C TYPE - kg. 75  (hard) - Universal  5 Keys - Blacked 113.46

AX030NR Holed axle Ø 40 x 2.9 x 1040 mm A TYPE kg. 40  (soft) - 4 Keys for 100 cc. - Blacked 113.46
AX032NR Holed axle Ø 40 x 2.9 x 1040 mm B TYPE kg. 50  (standard) - 4 Keys for 100 cc. - Blacked 113.46
AX036NR Holed axle Ø 40 x 2.9 x 1040 mm C TYPE - kg. 75 (hard) - 4 Keys for 100 cc. - Blacked 113.46

AX031NR Holed axle Ø 40 x 2.9 x 1040 mm A TYPE - kg. 40 (soft) 4 Keys - for 125 cc. - Blacked 113.46
AX033NR Holed axle Ø 40 x 2.9 x 1040 mm B TYPE kg. 50 (standard) - 4 Keys for 125 cc. - Blacked 113.46
AX037NR Holed axle Ø 40 x 2.9 x 1040 mm C TYPE - kg. 75 (hard) - 4 Keys for 125 cc. - Blacked 113.46

AX017NR Holed axle Ø 40 x 2.9 x 1060 mm A TYPE - kg. 40  (soft) - Universal  5 Keys - Blacked 113.46
AX018NR Holed axle Ø 40 x 2.9 x 1060 mm B TYPE - kg. 50  (standard) - Universal  5 Keys - Blacked 113.46
AX019NR Holed axle Ø 40 x 2.9 x 1060 mm C TYPE - kg. 75  (hard) - Universal  5 Keys 113.46

AX053NR Holed axle Ø 50 x 2.0 x 1020 mm A TYPE - kg. 40  (soft) for 100 cc. - Blacked 130.39
AX054NR Holed axle Ø 50 x 2.0 x 1020 mm B TYPE - kg. 55  (standard) for 100 cc. - Blacked 130.39
AX055NR Holed axle Ø 50 x 2.0 x 1020 mm C TYPE - kg. 75  (hard) for 100 cc. - Blacked 130.39

AX028NR Holed axle Ø 50 x 2.0 x 1040 mm A TYPE - kg. 40  (soft) - for 100 cc. - Blacked 130.39
AX025NR Holed axle Ø 50 x 2.0 x 1040 mm B TYPE - kg. 55  (standard) - for 100 cc. - Blacked 130.39
AX029NR Holed axle Ø 50 x 2.0 x 1040 mm C TYPE - kg. 75  (hard) - for 100 cc. - Blacked 130.39

AX050NR Holed axle Ø 50 x 2.0 x 1040 mm A TYPE - kg. 40 (soft) with bush - for 125 cc. - Blacked 134.28
AX051NR Holed axle Ø 50 x 2,0 x 1040 mm B TYPE Kg. 55 (standard) with bush - for 125 cc. - Blacked 134.28
AX052NR Holed axle Ø 50 x 2,0 x 1040 mm C TYPE Kg. 75 (hard) with bush - for 125 cc. - Blacked 134.28

�'�����8��������##+�������/	��
,��/�� ($�!�� !$��!���

�'�����8��������##+�������/	��
,��/�� ($�!�� !$��!���

Pricelist SKM 2003
Page 11



CODE ITEMS SPECIFICATION         Price

CH001 6 x 6 x 40 mm key - Tropicalized 0.97
CH002 6 x 6 x 60 mm key - Tropicalized 1.38
CH003 6 x 6 x 80 mm key - Tropicalized 1.94
CH004 6 x 6 x 100 mm key - Tropicalized 4.13

CH005 8 x 5 x 60 mm key - Tropicalized 1.38
CH006 8 x 5 x 80 mm key - Tropicalized 1.67
CH007 8 x 5 x 100 mm key - Tropicalized 1.94

CH008 8 x 6 x 60 mm key - Tropicalized 2.22
CH009 8 x 6 x 80 mm key - Tropicalized 2.51
CH010 8 x 6 x 100 mm key - Tropicalized 2.80

CH011 8 x 7 x 40 mm key - Tropicalized 2.08
CH012 8 x 7 x 60 mm key - Tropicalized 2.36
CH013 8 x 7 x 80 mm key - Tropicalized 2.64
CH014 8 x 7 x 100 mm key - Tropicalized 3.47

CH015 Peg key - Ø 6 x 30 mm - Tropicalized 5.04
CH016 Peg key - Ø 6 x 34 mm - Tropicalized 5.04

CH017 Peg key - Ø 7,5 x 34 mm - Tropicalized 5.04

CH018 Three peg key for Ø 50 mm axle - sprocket for 125 cc. - Tropicalized 9.04

CU001 Bearing for Ø 25 mm axle 17.56
CU002 Bearing for Ø 30 mm axle 20.25
CU003 Bearing for Ø 35 mm axle 25.82

CU004 Bearing for Ø 40 mm axle 25.82
CU005 Threaded pin for Ø 40 mm axle bearing 0.72

CU006 RHP bearing for Ø 40 mm axle - FIT for RACES 39.25
CU007 Threaded pin for RHP Ø 40 mm axle bearing - FIT for RACES 1.34

CU009 RHP bearing for Ø 50 mm axle - FIT for RACES 66.11
CU010 Bearing for Ø 50 mm axle suitable for Ø 40 mm bearing bush 46.48

	�����0
�&'���8��


	�����0�() ��8��

,�.
�&'���8��


,�.
�() ��8��

Pricelist SKM 2003
Page 12



CODE ITEMS SPECIFICATION         Price

CE001AL 115 mm Front wheel rim for 60 cc. and 100 cc. with valve and bearings 42.35

CE002AL 125 mm Front wheel rim for 100 cc. with valve and bearings 46.09
CE003AL 130 mm Front wheel rim for 100 cc. with valve and bearings 46.20

CE006AL 125 mm Ø 40 mm hole Front wheel rim for 125 cc. with valve 34.16
CE007AL 125 mm Ø 55 mm hole Front wheel rim for 125 cc. with valve 34.16

CE009AL 130 mm Ø 40 mm hole Front wheel rim for 125 cc. with valve 37.66

CE012AL 145 mm Rear wheel rim with valve 37.60
CE013AL 160 mm Rear wheel rim with valve 39.59
CE014AL 180 mm Rear wheel rim with valve 44.11
CE016AL 210 mm Rear wheel rim with valve 46.46

CE019AL Wheel rims set for 60 and 100 cc. : 2 x 115 mm Front and 2 x 145  mm Rear 145.54

CE020AL Wheel rims set for 100 cc. :  2 x 125 mm Front and 2 x 180 mm Rear 159.28
CE021AL Wheel rims set  for 100 cc. : 2 x 125 mm Front and 2 x 210 mm Rear 163.48

CE022AL Wheel rims set for 100 cc. : 2 x 130 mm Front and 2 x 180 mm Rear 160.62
CE023AL Wheel rims set for 100 cc. : 2 x 130 mm Front and 2 x 210 mm Rear 164.84

CE025AL Wheel rims set for 125 cc. : 2 x 125 mm Front and 2 x 180 mm Rear 138.32
CE026AL Wheel rims set for 125 cc. : 2 x 125 mm Front and 2 x 210 mm Rear 142.51

CE027AL Wheel rims set for 125 cc. : 2 x 130 mm Front and 2 x 180 mm Rear 139.65
CE028AL Wheel rims set for 125 cc. : 2 x 130 mm Front and 2 x 210 mm Rear 143.85
CE069AL Wheel rims set for 125 cc. : 2 x 130 mm Front and 2 x 160 mm Rear 136.96

��������#



������������������
����������������#


����������
����������������#
�
��

Pricelist SKM 2003
Page 13



CODE ITEMS SPECIFICATION         Price

CE001VA 115 mm Front wheel rim for 60 cc. and 100 cc. With valve, bearings and safety screws 54.10

CE002VA 125 mm Front wheel rim for 100 cc. With valve, bearings and safety screws 57.84
CE003VA 130 mm Front wheel rim for 100 cc. With valve, bearings and safety screws 57.95

CE006VA 125 mm Ø 40 mm hole Front wheel rim for 125 cc. With valve, bearings and safety screws 45.91

CE009VA 130 mm Ø 40 mm hole Front wheel rim for 125 cc. With valve, bearings and safety screws 45.91

CE012VA 145 mm Rear wheel rim With valve and safety screws 49.35
CE013VA 160 mm Rear wheel rim With valve and safety screws 51.34
CE014VA 180 mm Rear wheel rim With valve and safety screws 55.85
CE016VA 210 mm Rear wheel rim With valve and safety screws 58.20

CE019VA Wheel rims set for 60 and 100 cc. : 2 x 115 mm Front and 2 x 145  mm Rear - with safety screw 187.69

CE020VA Wheel rims set for 100 cc. :  2 x 125 mm Front and 2 x 180 mm Rear - with safety screw 201.24
CE021VA Wheel rims set  for 100 cc. : 2 x 125 mm Front and 2 x 210 mm Rear - with safety screw 205.43

CE022VA Wheel rims set for 100 cc. : 2 x 130 mm Front and 2 x 180 mm Rear - with safety screw 202.61
CE023VA Wheel rims set for 100 cc. : 2 x 130 mm Front and 2 x 210 mm Rear - with safety screw 206.80

CE025VA Wheel rims set for 125 cc. : 2 x 125 mm Front and 2 x 180 mm Rear - with safety screw 180.28
CE026VA Wheel rims set for 125 cc. : 2 x 125 mm Front and 2 x 210 mm Rear - with safety screw 184.47

CE027VA Wheel rims set for 125 cc. : 2 x 130 mm Front and 2 x 180 mm Rear - with safety screw 181.61
CE028VA Wheel rims set for 125 cc. : 2 x 130 mm Front and 2 x 210 mm Rear - with safety screw 185.80

NOTE: Wheel  Rims with safety screw are only made-to-order

����������
����������������#
�������$(!�9��� !�

����������
����������������#
�
���������$(!�9��� !�

Pricelist SKM 2003
Page 14



CODE ITEMS SPECIFICATION         Price

CE004AL 125 mm spoked Front wheel rim for 100 cc. With valve and bearings 50.23
CE005AL 130 mm spoked Front wheel rim for 100 cc. With valve and bearings 50.23

CE008AL 125 mm Ø 40 mm hole spoked Front wheel rim for 125 cc. with valve 39.38
CE011AL 130 mm Ø 40 mm hole spoked Front wheel rim for 125 cc. with valve 39.38

CE018AL 180 mm spoked Rear wheel rim with valve 51.81
CE017AL 210 mm spoked Rear wheel rim with valve 53.20

CE062AL Spoked wheel rims SET for 100 cc. - with: Front 125 mm and Rear 180 mm 189.67
CE024AL Spoked wheel rims SET for 100 cc. - with: Front 125 mm and Rear 210 mm 189.67
CE063AL Spoked wheel rims SET for 100 cc. - with: Front 130 mm and Rear 210 mm 189.67

CE064AL Spoked wheel rims SET for 125 cc. - with: Front 125 mm Ø 40 mm hole and Rear 180 mm 169.20
CE029AL Spoked wheel rims SET for 125 cc. - with: Front 125 mm Ø 40 mm hole and Rear 210 mm 169.20
CE065AL Spoked wheel rims SET for 125 cc. - with: Front 130 mm Ø 40 mm hole and Rear 210 mm 169.20

CE004VA 125 mm spoked Front wheel rim for 100 cc. With valve, bearings and safety screw 61.98
CE005VA 130 mm spoked Front wheel rim for 100 cc. With valve, bearings and safety screw 61.98

CE008VA 125 mm Ø 40 mm hole spoked Front wheel rim for 125 cc. with valve and safety screw 51.13
CE011VA 130 mm Ø 40 mm hole spoked Front wheel rim for 125 cc. with valve and safety screw 51.13

CE018VA 180 mm spoked Rear wheel rim with valve and safety screw 63.56
CE017VA 210 mm spoked Rear wheel rim with valve and safety screw 64.95

CE080VA Spoked wheel rims SET for 100 cc. with safety screw : Front 125 mm and Rear 160 mm 231.63
CE062VA Spoked wheel rims SET for 100 cc. with safety screw : Front 125 mm and Rear 180 mm 231.63
CE024VA Spoked wheel rims SET for 100 cc. with safety screw : Front 125 mm and Rear 210 mm 231.63
CE063VA Spoked wheel rims SET for 100 cc. with safety screw : Front 130 mm and Rear 210 mm 231.63

CE081VA Spoked wheel rims SET for 125 cc. with safety screw: Front 125 mm Ø 40 mm hole; Rear 160 mm 211.15
CE064VA Spoked wheel rims SET for 125 cc. with safety screw: Front 125 mm Ø 40 mm hole; Rear 180 mm 211.15
CE029VA Spoked wheel rims SET for 125 cc. with safety screw: Front 125 mm Ø 40 mm hole; Rear 210 mm 211.15
CE065VA Spoked wheel rims SET for 125 cc. with safety screw: Front 130 mm Ø 40 mm hole; Rear 210 mm 211.15

NOTE: Wheel  Rims with safety screw are only made-to-order

����������
-',�����������#


����������
-',�����������#
�
��

����������
-',�����������#
���������$(!�9��� !�

����������
-',�����������#
�
�����������$(!�9��� !�

Pricelist SKM 2003
Page 15



CODE ITEMS SPECIFICATION         Price

CE001CL 115 mm Front wheel rim for 60 cc. and 100 cc. with valve and bearings - CARBON LOOK 70.86
CE002CL 125 mm Front wheel rim - with valve and bearings - for 100 cc. - CARBON LOOK 72.12
CE006CL 125 mm Ø 40 mm hole Front wheel rim for 125 cc. with valve - CARBON LOOK 60.37
CE007CL 125 mm Ø 55 mm hole Front wheel rim for 125 cc. with valve - CARBON LOOK 60.37
CE012CL 145 mm Rear wheel rim with valve - CARBON LOOK 67.78
CE014CL 180 mm Rear wheel rim with valve - CARBON LOOK 71.40
CE016CL 210 mm Rear wheel rim with valve - CARBON LOOK 72.67

CE019CL  AL whell rims SET for 60 ÷ 100 cc.: Front 115 mm and Rear 145 mm - CARBON LOOK 244.73
CE020CL  AL wheel rims SET for 100 cc.: Front 125 mm and Rear 180 mm - CARBON LOOK 251.26
CE021CL  AL wheel rims SET for 100 cc.: Front 125 mm and Rear 210 mm - CARBON LOOK 255.65
CE025CL AL wheel rims SET for 125 cc.: Front 125 mm Ø 40 mm hole and Rear 180 mm - CARBON LOOK 230.30
CE026CL AL wheel rims SET for 125 cc.: Front 125 mm Ø 40 mm hole and Rear 210 mm - CARBON LOOK 234.49

CE004CL 125 mm spoked AL Front wheel rim for 100 cc. with valve and bearings - CARBON LOOK 79.72
CE008CL 125 mm Ø 40 mm hole spoked AL Front wheel rim for 125 cc. - with valve - CARBON LOOK 67.97
CE017CL 210 mm spoked AL Rear wheel rim - with valve - CARBON LOOK 80.08

CE024CL Spoked AL wheel rims SET for 100 cc. : 125 mm Front; 210 mm Rear - CARBON LOOK 281.81
CE029CL Spoked AL wheel rims SET for 125 cc.: 125 mm Ø 40 mm hole Front; 210 mm Rear - CARBON LOOK 261.17

CE075AL Wheel rims set for 125 cc. : 2 x 130 mm Front and 2 x 180 mm Rear 210.70
CE076AL Wheel rims set for 125 cc. : 2 x 130 mm Front and 2 x 210 mm Rear 212.23

CE077AL Aluminium REAR 210mm wheel rim for 125cc 57.30
CE078AL Aluminium REAR 180mm wheel rim for 125cc 57.75
CE079AL Aluminium FRONT 130mm wheel rim for 125cc 55.76

NOTE: Available colors BLUE / RED/ BLACK are available only on request

����������
-',�����������#
����/
,#�
��	'���'',/

����������
-',�����������#
��
�����/
,#�
��	'���'',/

����������
����������
,#�/
��	'���'',/����������#


����������
����������
,#�/
��	'���'',/����������#
�
��

���#����#���'��:�����������#
;�)�� !<�!������=$��$>�!�	���?�����) �

	��
,�$�)"�@!"

Pricelist SKM 2003
Page 16



CODE ITEMS SPECIFICATION         Price

CE044MG/AG 125 mm Front spoked wheel rim for 100 cc. - complete - SILVER painted 79.83

CE058MG/AG 130 mm Front spoked wheel rim for 100 cc. - complete - SILVER painted 79.83

CE045MG/AG 125 mm Ø 40 mm hole Front spoked wheel rim for 125 cc. - complete - SILVER painted 79.83
CE059MG/AG 130 mm Ø 40 mm hole Front spoked wheel rim for 125 cc. - complete - SILVER painted 79.83
CE047MG/AG 180 mm Rear wheel rim with valve - complete - SILVER painted 79.83
CE048MG/AG 210 mm Rear wheel rim with valve - complete - SILVER painted 79.83

CE049MG/AG MG spoked wheel rims SET for 100 cc.:  125 mm Front ; 180 mm Rear 296.17
CE050MG/AG MG spoked wheel rims SET for 100 cc.: 125 mm Front ; 210 mm Rear 296.17
CE060MG/AG MG spoked wheel rims SET for 100 cc.: 130 mm Front ; 210 mm Rear 296.17
CE051MG/AG MG spoked wheel rims SET for 125 cc. : 125 mm Front Ø 40 mm. Hole ; 180 mm Rear 296.17
CE052MG/AG MG spoked wheel rims SET for 125 cc. : 125 mm Front Ø 40 mm. Hole ; 210 mm Rear 296.17
CE061MG/AG MG spoked wheel rims SET for 125 cc. : 130 mm Front Ø 40 mm. Hole ; 210 mm Rear 296.17

#$%�!�������������#
���/
��'#���:��0�.���'�/

CE070MG MG wheel rims SET for 125 cc.: 130mm Front; 180 mm 355.16  
CE071MG MG wheel rims SET for 125 cc.: 130mm Front; 210 mm 357.50
CE072MG MG REAR 210mm wheel rim for 125cc 97.72
CE073MG MG REAR 180mm wheel rim for 125cc 96.53
CE074MG MG  FRONT 130mm wheel rim for 125cc 94.71

#$%�!�����
-',�����������#
���
��A���-������������������������������������������������������������������������

�����A$�=!?�	!$ ��%��$�"�
$(!�9�
� !��

#$%�!�����
-',�����������#
�
�����
��A���-�����������������������������������������������������������������������

�����A$�=!?�	!$ ��%��$�"�
$(!�9�
� !��

Pricelist SKM 2003
Page 17



CODE ITEMS SPECIFICATION         Price

CL001ER Little column for wheel hub clamping - Ergal - Anod. GOLD 3.36
CL001ER/BL Little column for wheel hub clamping - Ergal - Anod. BLUE 3.36
CL001ER/RS Little column for wheel hub clamping - Ergal - Anod. RED 3.36
CL001ER/TT Little column for wheel hub clamping - Ergal - Anod. TITANIUM 3.36

CL002AC Ø 13 mm little column for wheel hub clamping - Steel - Tropicalized 2.56

CL003AC Ø 15 mm little column for wheel hub clamping - Steel - Tropicalized 2.65

VT032 M8 flanged sel-.locking nut - Wheel hub clamping - recommended by CIK-FIA for Internationals Race 1.25

CE034 Ø 35 x 10 x 17 mm bearing for wheel rim 4.13

VV001 Short tubeless valve 2.32
VV002 Long tubeless valve 1.55

VV003 Chromium plated short tubeless valve - TR4-12 3.85

VT031 Safety screws SET OF 3 for a wheel rim 11.62

�

�

'���
�&'�������


�������
'��#��() ���������	�
��#-��0


��&��'
,��0�����&'����������	�
��#-��0�����
'##������	.�
�,�&��


-����-���
�() ���������#


Pricelist SKM 2003
Page 18



CODE ITEMS SPECIFICATION         Price

VL011BL Steering wheel covered with velvet leather for MiniKart : BLUE with BLUE inside 98.13
VL011GR Steering wheel covered with velvet leather for MiniKart : GREY with BLACK inside 98.13
VL011RS Steering wheel covered with velvet leather for MiniKart : RED with BLACK inside 98.13

VL012NR Cheap steering wheel for  RENT BLACK with GOLD inside 67.14

VL013BL Steering wheel covered with velvet leather : BLUE with BLUE inside 98.13
VL013GR Steering wheel covered with velvet leather : GREY with BLACK inside 98.13
VL013NR Steering wheel covered with velvet leather : BLACK with GREY inside 98.13
VL013RS Steering wheel covered with velvet leather : RED with BLACK inside 98.13

VL014 Steering wheel flat on the top covered with velvet leather :                                                                                     
BLUE+RED+white with BLUE inside 118.52

 

VL015 Steering wheel flat on the top and on the bottom, covered with velvet leather:                                                  BLUE 
with BLUE inside 103.95

VL017BL Steering wheel flat on the top covered with velvet leather :                                                                             BLUE 
with BLUE inside 109.78

VL017GR Steering wheel flat on the top covered with velvet leather :                                                                        GREY with 
BLACK inside 109.78

VL017RS Steering wheel flat on the top covered with velvet leather :                                                                              RED 
with BLACK inside 109.78

VL018BL Steering wheel flat on the top covered with velvet leather - Two Colours :                                                                 
BLUE + BLACK with GREY inside 115.60

VL018GR Steering wheel flat on the top covered with velvet leather - Two Colours :                                                       GREY + 
BLACK with GREY inside 115.60

VL018RS Steering wheel flat on the top covered with velvet leather - Two Colours :                                                       RED + 
BLACK with GREY inside 115.60

VL020RS Alcantara DIESIS MOD. steering wheel - RED with BLACK inside d. 320 119.39
VL020BL Alcantara DIESIS MOD. steering wheel - BLUE with BLACK inside d. 320 119.39

VL021RS Alcantara DIESIS MOD. steering wheel - RED +LEDERFYLON with BLACK inside d. 320 119.39
VL021BL Alcantara DIESIS MOD. steering wheel - BLUE +LEDERFYLON with BLACK inside d. 320 119.39

VL022RS Alcantara DIESIS MOD. steering wheel - RED +LEDERFYLON with CARBON LOOK inside d. 320 141.12
VL022BL Alcantara DIESIS MOD. steering wheel - BLUE +LEDERFYLON with CARBON LOOK inside d. 320 141.12


������0������


A��A�����������
������0������
�

��
�������
������0������


Pricelist SKM 2003
Page 19



CODE ITEMS SPECIFICATION         Price

ST058SX 10,5° left spindle for 100 cc. with bearings - Chromium-Plated - standard length 67.14

ST058DX 10,5° right spindle for 100 cc. with bearings - Chromium-Plated - standard length 67.14

ST057SX 11°  left spindle for 100 cc. with bearings - Chromium-Plated - standard length 67.14
ST057DX 11°  right spindle for 100 cc. with bearings - Chromium-Plated - standard length 67.14

ST059SX 12,5° left spindle for 100 cc. With bearings - Chromium-Plated - standard length ( See Note ) 67.14
ST059DX 12,5° right spindle for 100 cc. With bearings - Chromium-Plated - standard length  ( See Note ) 67.14

ST061SX 10,5° left spindle for 125 cc. With bearings - Chromium-Plated - Standard length 79.53

ST061DX 10,5° right spindle for 125 cc. With bearings - Chromium-Plated - Standard length 79.53

ST060SX 11° left spindle for 125 cc. with bearings - Chromium-Plated - standard length 79.53
ST060DX 11° right spindle for 125 cc. with bearings - Chromium-Plated - standard length 79.53

ST062SX 12,5° left spindle for 125 cc. With bearings - Chromium-Plated - standard length  ( See Note ) 79.53
ST062DX 12,5° right spindle for 125 cc. With bearings - Chromium-Plated - standard length  ( See Note ) 79.53

ST073SX 10,5° left spindle for 100 cc. With bearings - Chromium-Plated - long type 69.82

ST073DX 10,5° right spindle for 100 cc. With bearings - Chromium-Plated - long type 69.82

ST072SX 11° left spindle for 100 cc. With bearings - Chromium-Plated - long type 69.82
ST072DX 11  right spindle for 100 cc. with bearings - Chromium-Plated - long type 69.82

ST074SX 12,5° left spindle for 100 cc. with bearings - Chromium-Plated - long type  ( See Note ) 69.82
ST074DX 12,5° right spindle for 100 cc. with bearings - Chromium-Plated - long type  ( See Note ) 69.82

NOTE:


-�����


&�'���
-�����
����+.+-+�
�����
� )�����-�$�!"���
������0���

&�'���
-�����
����+.+-+�
�����
� )�����-�$�!"����'�0��.-�

Front Spindles DX / SX  12,5° for 100 and 125 cc. Standard length and long type are available only upon request

Pricelist SKM 2003
Page 20



CODE ITEMS SPECIFICATION         Price

ST096SX 10,5° left spindle for 100 cc. with bearings - Tropicalized - standard length 65.07

ST096DX 10,5° right spindle for 100 cc. with bearings - Tropicalized - standard length 65.07

ST098SX 11° left spindle for 100 cc. with bearings - Tropicalized - standard length 65.07
ST098DX 11° right spindle for 100 cc. with bearings - Tropicalized - standard length 65.07

ST100SX 12,5° left spindle for 100 cc. With bearings - Tropicalized - standard length ( See Note ) 65.07
ST100DX 12,5° right spindle for 100 cc. With bearings - Tropicalized - standard length ( See Note ) 65.07

ST102SX 10,5° left spindle for 125 cc. With bearings - Tropicalized - standard length 77.47

ST102DX 10,5° right spindle for 125 cc. With bearings - Tropicalized - standard length 77.47

ST103SX 11°  left spindle for 125 cc. with bearings - Tropicalized - standard length 77.47
ST103DX 11°  right spindle for 125 cc. with bearings - Tropicalized - standard length 77.47

ST104SX 12,5° left spindle for 125 cc. With bearings - Tropicalized - standard length ( See Note ) 77.47
ST104DX 12,5° right spindle for 125 cc. With bearings - Tropicalized - standard length ( See Note ) 77.47

ST097SX 10,5° left spindle for 100 cc. With bearings - Tropicalized - long type 67.76

ST097DX 10,5° right spindle for 100 cc. With bearings - Tropicalized - long type 67.76

ST099SX 11° left spindle for 100 cc. With bearings - Tropicalized - long type 67.76
ST099DX 11  right spindle for 100 cc. with bearings - Tropicalized - long type 67.76

ST101SX 12,5° left spindle for 100 cc. with bearings - Tropicalized - long type ( See Note ) 67.76
ST101DX 12,5° right spindle for 100 cc. with bearings - Tropicalized - long type ( See Note ) 67.76

NOTE:

ST105SX 10,5° left spindle for 100 cc., BabyKart and MiniKart  - Chromium-Plated - standard length 38.22
ST105DX 10,5° right spindle for 100 cc., BabyKart and MiniKart  - Chromium-Plated - standard length 38.22

&�'���
-�����
����+.+-+�
������ )6��$��@!"���
������0���

&�'���
-�����
����+.+-+�
������ )6��$��@!"����'�0��.-�

&�'���
-�����
���
�����
� )�����-�$�!"

Front Spindles DX / SX  12,5° for 100 and 125 cc. Standard and long types are available only upon request

Pricelist SKM 2003
Page 21



CODE ITEMS SPECIFICATION         Price

FS016 Hardened M8 socket head screw - 2002 Model 8.26

FS017 Upper head eccentric with reference marks - Tropicalized - 2002 Model 8.01

FS018 Ø 8 mm UPPER normal straight washer for Front spindle screw - 2002 Mod. 2.91

FS003 Lower flat eccentric - Tropicalized 7.26

FS004 Washer for adjustment of Front spindle height - 3.5 mm thickness - Tropicalized YELLOW 1.60

FS013 Washer for adjustment of Front spindle height - 4,1 mm thickness - Zinc plated WHITE 1.60

FS019 Washer for adjustment of Front spindle height - 3,9 mm thickness - BLACKED 1.60

FS005 Ø 8 mm LOWER normal straight washer for Ø 8 Front spindle screw 1.60

FS023 Ø 12 mm UPPER - LOWER normal straight washer  for RENT Front spindle 2.00

FS007 Ø 22 x 7 x 8 mm bearing for spindle - RED screen 3.10

FS008 14 x 1,5 mm self-locking nut - Tropicalized 1.16

FS014 Ø 10 x 10 mm. Tube for Front spindle machined from solid - Tropicalized 1.29

FS021 Ø 22 x 10 x 10 mm bearing for spindle - RENT 3.74
FS022 Pipe for spindle - RENT 1.76

 
ST007   5 mm Front spindle lining for wheel rim - Anod. GOLD 1.94

ST007BL   5 mm Front spindle lining for wheel rim - Anod. BLUE 1.94
ST007RS   5 mm Front spindle lining for wheel rim - Anod. RED 1.94
ST007TT   5 mm Front spindle lining for wheel rim - Anod. TITANIUM 1.94

ST009 10 mm Front spindle lining for wheel rim - Anod. GOLD 2.45
ST009BL 10 mm Front spindle lining for wheel rim - Anod. BLUE 2.45
ST009RS 10 mm Front spindle lining for wheel rim - Anod. RED 2.45
ST009TT 10 mm Front spindle lining for wheel rim - Anod. TITANIUM 2.45

FS011 Adjustable screw KIT with eccentrics 30.50

FS012 Straight screw KIT with normal straight washer for Front spindle 23.91

�

�

'���
�&'��
-�����
�,��

�

�

'���
�$�"�,���() �&�'���
-�����

Pricelist SKM 2003
Page 22



CODE ITEMS SPECIFICATION         Price


������0�0�'�-

�8-�'����A����'&�
������0�0�'�-�

Pricelist SKM 2003
Page 23



CODE ITEMS SPECIFICATION         Price

ST016 420 mm long steering column with 2 brackets for MiniKart - M8 screw - Chromium-Plated 32.30

ST018 470 mm long steering column with 2 brackets - M8 screw - Chromium-Plated 32.30

ST075 490 mm long steering column with 2 brackets - M8 screw - Chromium-Plated 32.30

ST076 550 mm long steering column with 2 brackets - M8 screw - Chromium-Plated 32.30

ST107 420 mm long steering column with 2 brackets for MiniKart - M10 screw - Chromium-Plated 32.30

ST108 470 mm long steering column with 2 brackets - M10 screw - Chromium-Plated 32.30

ST063TT 470 mm long steering column with 1 removable bracket - Ergal - Anod. TITANIUM 89.09
ST077TT 490 mm long steering column with 1 removable bracket - Ergal - Anod. TITANIUM 89.09
ST065TT 550 mm long steering column with 1 removable bracket - Ergal - Anod. TITANIUM 89.09

ST078 Peg key for steering column with 1 removable bracket 4.39

ST001 Steering locking bush with threaded pins - Anod. GOLD 5.68

ST001BL Steering locking bush with threaded pins - Anod. BLUE 5.68

ST001RS Steering locking bush with threaded pins - Anod. RED 5.68

ST001TT Steering locking bush with threaded pins - Anod. TITANIUM 5.68

ST046 9 mm thick x Ø 8 mm. hole - steering column uniball 17.51

ST109 10,5 mm thick x Ø 10 mm. hole - steering column uniball 20.66

ST050NR Steering column support - Nylon - with 1 hole - BLACK colour 6.51

ST050RS Steering column support - Nylon - with 1 hole - RED colour 6.51

ST079NR Steering column support - Nylon - with 2 holes - BLACK colour 6.51

ST079RS Steering column support - Nylon - with 2 holes - RED colour 6.51

ST051 Ø 22 mm snap ring for steering column uniball 0.77

ST049 Steering column uniball lining - BRASS 1.60

�

�

'���
�&'��
������0�
'��#�

�

�

'���
�() �
������0�
'��#�

#B�
��+�
������0�
'��#�

#*��
��+�
������0�
'��#�

#B�
-�
����
������0�
'��#������0��

New !

Pricelist SKM 2003
Page 24



CODE ITEMS SPECIFICATION         Price

ST052 Steering wheel hub for 100 cc. - Aluminium - Anod. GOLD 17.82

ST052BL Steering wheel hub for 100 cc. - Aluminium - Anod. BLUE 17.82

ST052RS Steering wheel hub for 100 cc. - Aluminium - Anod. RED 17.82

ST052TT Steering wheel hub for 100 cc. - Aluminium - Anod. TITANIUM 17.82

ST056 Inclined steering wheel hub for 100 cc. - Aluminium - 2002 Mod. - Anod. GOLD 54.00

ST056BL Inclined steering wheel hub for 100 cc. - Aluminium - 2002 Mod. - Anod. BLUE 54.00

ST056RS Inclined steering wheel hub for 100 cc. - Aluminium - 2002 Mod. - Anod. RED 54.00

ST056TT Inclined steering wheel hub for 100 cc. - Aluminium - 2002 Mod. - Anod. TITANIUM 54.00

ST053 Steering wheel hub for 125 cc. - Aluminium - Anod. GOLD 40.80

ST053BL Steering wheel hub for 125 cc. - Aluminium - Anod. BLUE 40.80

ST053RS Steering wheel hub for 125 cc. - Aluminium - Anod. RED 40.80

ST053TT Steering wheel hub for 125 cc. - Aluminium - Anod. TITANIUM 40.80


������0���������	



������0���������	


New 

Pricelist SKM 2003
Page 25



CODE ITEMS SPECIFICATION         Price

ST019 M8 x 205 mm drilled cylindrical steering tie-rod - AL - Anod. GOLD 8.52

ST019BL M8 x 205 mm drilled cylindrical steering tie-rod - AL - Anod. BLUE 8.52

ST019RS M8 x 205 mm drilled cylindrical steering tie-rod - AL - Anod. RED 8.52

ST019TT M8 x 205 mm drilled cylindrical steering tie-rod - AL - Anod. TITANIUM 8.52

ST020 M8 x 210 mm drilled cylindrical steering tie-rod  - Aluminium - Anod. GOLD 8.52

ST020BL M8 x 210 mm drilled cylindrical steering tie-rod  - Aluminium - Anod. BLUE 8.52

ST020RS M8 x 210 mm drilled cylindrical steering tie-rod  - Aluminium - Anod. RED 8.52

ST020TT M8 x 210 mm drilled cylindrical steering tie-rod  - Aluminium - Anod. TITANIUM 8.52

ST113 M8 x 215 mm drilled cylindrical steering tie-rod  - Aluminium - Anod. GOLD 8.52

ST113BL M8 x 215 mm drilled cylindrical steering tie-rod  - Aluminium - Anod. BLUE 8.52

ST113RS M8 x 215 mm drilled cylindrical steering tie-rod  - Aluminium - Anod. RED 8.52

ST113TT M8 x 215 mm drilled cylindrical steering tie-rod  - Aluminium - Anod. TITANIUM 8.52

ST021 M8 x 220 mm drilled cylindrical steering tie-rod  - Aluminium - Anod. GOLD 8.52

ST021BL M8 x 220 mm drilled cylindrical steering tie-rod  - Aluminium - Anod. BLUE 8.52

ST021RS M8 x 220 mm drilled cylindrical steering tie-rod  - Aluminium - Anod. RED 8.52

ST021TT M8 x 220 mm drilled cylindrical steering tie-rod  - Aluminium - Anod. TITANIUM 8.52

ST017 M8 x 225 mm drilled cylindrical steering tie-rod  - Aluminium - Anod. GOLD 8.52

ST017BL M8 x 225 mm drilled cylindrical steering tie-rod  - Aluminium - Anod. BLUE 8.52

ST017RS M8 x 225 mm drilled cylindrical steering tie-rod  - Aluminium - Anod. RED 8.52

ST017TT M8 x 225 mm drilled cylindrical steering tie-rod  - Aluminium - Anod. TITANIUM 8.52

ST112 M8 x 230 mm drilled cylindrical steering tie-rod  - Aluminium - Anod. GOLD 8.52

ST112BL M8 x 230 mm drilled cylindrical steering tie-rod  - Aluminium - Anod. BLUE 8.52

ST112RS M8 x 230 mm drilled cylindrical steering tie-rod  - Aluminium - Anod. RED 8.52

ST112TT M8 x 230 mm drilled cylindrical steering tie-rod  - Aluminium - Anod. TITANIUM 8.52

ST024 M8 x 250 mm drilled cylindrical steering tie-rod  - Aluminium - Anod. GOLD 8.52

ST024BL M8 x 250 mm drilled cylindrical steering tie-rod  - Aluminium - Anod. BLUE 8.52

ST024RS M8 x 250 mm drilled cylindrical steering tie-rod  - Aluminium - Anod. RED 8.52

ST024TT M8 x 250 mm drilled cylindrical steering tie-rod  - Aluminium - Anod. TITANIUM 8.52

������������������
.������
���
������0������'�


�'����
.������
���
������0������'�


Pricelist SKM 2003
Page 26



CODE ITEMS SPECIFICATION         Price

ST025 M8 x 255 mm drilled cylindrical steering tie-rod - AL - Anod. GOLD 8.52

ST025BL M8 x 255 mm drilled cylindrical steering tie-rod - AL - Anod. BLUE 8.52

ST025RS M8 x 255 mm drilled cylindrical steering tie-rod - AL - Anod. RED 8.52

ST025TT M8 x 255 mm drilled cylindrical steering tie-rod - AL - Anod. TITANIUM 8.52

ST026 M8 x 260 mm drilled cylindrical steering tie-rod  - Aluminium - Anod. GOLD 8.52

ST026BL M8 x 260 mm drilled cylindrical steering tie-rod  - Aluminium - Anod. BLUE 8.52

ST026RS M8 x 260 mm drilled cylindrical steering tie-rod  - Aluminium - Anod. RED 8.52

ST026TT M8 x 260 mm drilled cylindrical steering tie-rod  - Aluminium - Anod. TITANIUM 8.52

ST027 M8 x 265 mm drilled cylindrical steering tie-rod  - Aluminium - Anod. GOLD 8.52

ST027BL M8 x 265 mm drilled cylindrical steering tie-rod  - Aluminium - Anod. BLUE 8.52

ST027RS M8 x 265 mm drilled cylindrical steering tie-rod  - Aluminium - Anod. RED 8.52

ST027TT M8 x 265 mm drilled cylindrical steering tie-rod  - Aluminium - Anod. TITANIUM 8.52

ST028 M8 x 270 mm drilled cylindrical steering tie-rod  - Aluminium - Anod. GOLD 8.52

ST028BL M8 x 270 mm drilled cylindrical steering tie-rod  - Aluminium - Anod. BLUE 8.52

ST028RS M8 x 270 mm drilled cylindrical steering tie-rod  - Aluminium - Anod. RED 8.52

ST028TT M8 x 270 mm drilled cylindrical steering tie-rod  - Aluminium - Anod. TITANIUM 8.52

ST029 M8 x 275 mm drilled cylindrical steering tie-rod  - Aluminium - Anod. GOLD 8.52

ST029BL M8 x 275 mm drilled cylindrical steering tie-rod  - Aluminium - Anod. BLUE 8.52

ST029RS M8 x 275 mm drilled cylindrical steering tie-rod  - Aluminium - Anod. RED 8.52

ST029TT M8 x 275 mm drilled cylindrical steering tie-rod  - Aluminium - Anod. TITANIUM 8.52

������������������
.������
���
������0������'�


Pricelist SKM 2003
Page 27



CODE ITEMS SPECIFICATION         Price

ST080 M8 x 205 mm drilled Hexagonal steering tie-rod  - Aluminium - Anod. GOLD 9.52

ST080BL M8 x 205 mm drilled Hexagonal steering tie-rod  - Aluminium - Anod. BLUE 9.52

ST080RS M8 x 205 mm drilled Hexagonal steering tie-rod  - Aluminium - Anod. RED 9.52

ST080TT M8 x 205 mm drilled Hexagonal steering tie-rod  - Aluminium - Anod. TITANIUM 9.52

ST022 M8 x 210 mm drilled Hexagonal steering tie-rod  - AL - Anod. GOLD 9.52

ST022BL M8 x 210 mm drilled Hexagonal steering tie-rod  - AL - Anod. BLUE 9.52

ST022RS M8 x 210 mm drilled Hexagonal steering tie-rod  - AL - Anod. RED 9.52

ST022TT M8 x 210 mm drilled Hexagonal steering tie-rod  - AL - Anod. TITANIUM 9.52

ST081 M8 x 215 mm drilled Hexagonal steering tie-rod  - Aluminium - Anod. GOLD 9.52

ST081BL M8 x 215 mm drilled Hexagonal steering tie-rod  - Aluminium - Anod. BLUE 9.52

ST081RS M8 x 215 mm drilled Hexagonal steering tie-rod  - Aluminium - Anod. RED 9.52

ST081TT M8 x 215 mm drilled Hexagonal steering tie-rod  - Aluminium - Anod. TITANIUM 9.52

ST023 M8 x 220 mm drilled Hexagonal steering tie-rod  - Aluminium - Anod. GOLD 9.52

ST023BL M8 x 220 mm drilled Hexagonal steering tie-rod  - Aluminium - Anod. BLUE 9.52

ST023RS M8 x 220 mm drilled Hexagonal steering tie-rod  - Aluminium - Anod. RED 9.52

ST023TT M8 x 220 mm drilled Hexagonal steering tie-rod  - Aluminium - Anod. TITANIUM 9.52

ST082 M8 x 225 mm drilled Hexagonal steering tie-rod  - Aluminium - Anod. GOLD 9.52

ST082BL M8 x 225 mm drilled Hexagonal steering tie-rod  - Aluminium - Anod. BLUE 9.52

ST082RS M8 x 225 mm drilled Hexagonal steering tie-rod  - Aluminium - Anod. RED 9.52

ST082TT M8 x 225 mm drilled Hexagonal steering tie-rod  - Aluminium - Anod. TITANIUM 9.52

ST083 M8 x 230 mm drilled Hexagonal steering tie-rod  - Aluminium - Anod. GOLD 9.52

ST083BL M8 x 230 mm drilled Hexagonal steering tie-rod  - Aluminium - Anod. BLUE 9.52

ST083RS M8 x 230 mm drilled Hexagonal steering tie-rod  - Aluminium - Anod. RED 9.52

ST083TT M8 x 230 mm drilled Hexagonal steering tie-rod  - Aluminium - Anod. TITANIUM 9.52

ST030 M8 x 250 mm drilled Hexagonal steering tie-rod  - Aluminium - Anod. GOLD 9.52

ST030BL M8 x 250 mm drilled Hexagonal steering tie-rod  - Aluminium - Anod. BLUE 9.52

ST030RS M8 x 250 mm drilled Hexagonal steering tie-rod  - Aluminium - Anod. RED 9.52

ST030TT M8 x 250 mm drilled Hexagonal steering tie-rod  - Aluminium - Anod. TITANIUM 9.52

����������8�0'����
������0������'�


����������8�0'����
������0������'�


New !

Pricelist SKM 2003
Page 28



CODE ITEMS SPECIFICATION         Price

ST031 M8 x 255 mm drilled Hexagonal steering tie-rod  - AL - Anod. GOLD 9.52

ST031BL M8 x 255 mm drilled Hexagonal steering tie-rod  - AL - Anod. BLUE 9.52

ST031RS M8 x 255 mm drilled Hexagonal steering tie-rod  - AL - Anod. RED 9.52

ST031TT M8 x 255 mm drilled Hexagonal steering tie-rod  - AL - Anod. TITANIUM 9.52

ST032 M8 x 260 mm drilled Hexagonal steering tie-rod  - Aluminium - Anod. GOLD 9.52

ST032BL M8 x 260 mm drilled Hexagonal steering tie-rod  - Aluminium - Anod. BLUE 9.52

ST032RS M8 x 260 mm drilled Hexagonal steering tie-rod  - Aluminium - Anod. RED 9.52

ST032TT M8 x 260 mm drilled Hexagonal steering tie-rod  - Aluminium - Anod. TITANIUM 9.52

ST033 M8 x 265 mm drilled Hexagonal steering tie-rod  - Aluminium - Anod. GOLD 9.52

ST033BL M8 x 265 mm drilled Hexagonal steering tie-rod  - Aluminium - Anod. BLUE 9.52

ST033RS M8 x 265 mm drilled Hexagonal steering tie-rod  - Aluminium - Anod. RED 9.52

ST033TT M8 x 265 mm drilled Hexagonal steering tie-rod  - Aluminium - Anod. TITANIUM 9.52

ST034 M8 x 270 mm drilled Hexagonal steering tie-rod  - Aluminium - Anod. GOLD 9.52

ST034BL M8 x 270 mm drilled Hexagonal steering tie-rod  - Aluminium - Anod. BLUE 9.52

ST034RS M8 x 270 mm drilled Hexagonal steering tie-rod  - Aluminium - Anod. RED 9.52

ST034TT M8 x 270 mm drilled Hexagonal steering tie-rod  - Aluminium - Anod. TITANIUM 9.52

ST035 M8 x 275 mm drilled Hexagonal steering tie-rod  - Aluminium - Anod. GOLD 9.52

ST035BL M8 x 275 mm drilled Hexagonal steering tie-rod  - Aluminium - Anod. BLUE 9.52

ST035RS M8 x 275 mm drilled Hexagonal steering tie-rod  - Aluminium - Anod. RED 9.52

ST035TT M8 x 275 mm drilled Hexagonal steering tie-rod  - Aluminium - Anod. TITANIUM 9.52

����������8�0'����
������0������'�


Pricelist SKM 2003
Page 29



CODE ITEMS SPECIFICATION         Price

ST084 M8 x 205 mm solid cylindrical steering tie-rod  - Aluminium - Anod. GOLD 14.51

ST084BL M8 x 205 mm solid cylindrical steering tie-rod  - Aluminium - Anod. BLUE 14.51

ST084RS M8 x 205 mm solid cylindrical steering tie-rod  - Aluminium - Anod. RED 14.51

ST084TT M8 x 205 mm solid cylindrical steering tie-rod  - Aluminium - Anod. TITANIUM 14.51

ST085 M8 x 210 mm solid cylindrical steering tie-rod  - Aluminium - Anod. GOLD 14.51

ST085BL M8 x 210 mm solid cylindrical steering tie-rod  - Aluminium - Anod. BLUE 14.51

ST085RS M8 x 210 mm solid cylindrical steering tie-rod  - Aluminium - Anod. RED 14.51

ST085TT M8 x 210 mm solid cylindrical steering tie-rod  - Aluminium - Anod. TITANIUM 14.51

ST086 M8 x 215 mm solid cylindrical steering tie-rod  - Aluminium - Anod. GOLD 14.51

ST086BL M8 x 215 mm solid cylindrical steering tie-rod  - Aluminium - Anod. BLUE 14.51

ST086RS M8 x 215 mm solid cylindrical steering tie-rod  - Aluminium - Anod. RED 14.51

ST086TT M8 x 215 mm solid cylindrical steering tie-rod  - Aluminium - Anod. TITANIUM 14.51

ST087 M8 x 220 mm solid cylindrical steering tie-rod  - Aluminium - Anod. GOLD 14.51

ST087BL M8 x 220 mm solid cylindrical steering tie-rod  - Aluminium - Anod. BLUE 14.51

ST087RS M8 x 220 mm solid cylindrical steering tie-rod  - Aluminium - Anod. RED 14.51

ST087TT M8 x 220 mm solid cylindrical steering tie-rod  - Aluminium - Anod. TITANIUM 14.51

ST088 M8 x 225 mm solid cylindrical steering tie-rod  - Aluminium - Anod. GOLD 14.51

ST088BL M8 x 225 mm solid cylindrical steering tie-rod  - Aluminium - Anod. BLUE 14.51

ST088RS M8 x 225 mm solid cylindrical steering tie-rod  - Aluminium - Anod. RED 14.51

ST088TT M8 x 225 mm solid cylindrical steering tie-rod  - Aluminium - Anod. TITANIUM 14.51

ST089 M8 x 230 mm solid cylindrical steering tie-rod  - Aluminium - Anod. GOLD 14.51

ST089BL M8 x 230 mm solid cylindrical steering tie-rod  - Aluminium - Anod. BLUE 14.51

ST089RS M8 x 230 mm solid cylindrical steering tie-rod  - Aluminium - Anod. RED 14.51

ST089TT M8 x 230 mm solid cylindrical steering tie-rod  - Aluminium - Anod. TITANIUM 14.51

ST090 M8 x 250 mm solid cylindrical steering tie-rod  - Aluminium - Anod. GOLD 14.51

ST090BL M8 x 250 mm solid cylindrical steering tie-rod  - Aluminium - Anod. BLUE 14.51

ST090RS M8 x 250 mm solid cylindrical steering tie-rod  - Aluminium - Anod. RED 14.51

ST090TT M8 x 250 mm solid cylindrical steering tie-rod  - Aluminium - Anod. TITANIUM 14.51


'����
.������
���
������0������'�



'����
.������
���
������0������'�


Pricelist SKM 2003
Page 30



CODE ITEMS SPECIFICATION         Price

ST091 M8 x 255 mm solid cylindrical steering tie-rod  - Aluminium - Anod. GOLD 14.51

ST091BL M8 x 255 mm solid cylindrical steering tie-rod  - Aluminium - Anod. BLUE 14.51

ST091RS M8 x 255 mm solid cylindrical steering tie-rod  - Aluminium - Anod. RED 14.51

ST091TT M8 x 255 mm solid cylindrical steering tie-rod  - Aluminium - Anod. TITANIUM 14.51

ST092 M8 x 260 mm drilled cylindrical steering tie-rod  - Aluminium - Anod. GOLD 14.51

ST092BL M8 x 260 mm drilled cylindrical steering tie-rod  - Aluminium - Anod. BLUE 14.51

ST092RS M8 x 260 mm drilled cylindrical steering tie-rod  - Aluminium - Anod. RED 14.51

ST092TT M8 x 260 mm drilled cylindrical steering tie-rod  - Aluminium - Anod. TITANIUM 14.51

ST093 M8 x 265 mm drilled cylindrical steering tie-rod  - Aluminium - Anod. GOLD 14.51

ST093BL M8 x 265 mm drilled cylindrical steering tie-rod  - Aluminium - Anod. BLUE 14.51

ST093RS M8 x 265 mm drilled cylindrical steering tie-rod  - Aluminium - Anod. RED 14.51

ST093TT M8 x 265 mm drilled cylindrical steering tie-rod  - Aluminium - Anod. TITANIUM 14.51

ST094 M8 x 270 mm drilled cylindrical steering tie-rod  - Aluminium - Anod. GOLD 14.51

ST094BL M8 x 270 mm drilled cylindrical steering tie-rod  - Aluminium - Anod. BLUE 14.51

ST094RS M8 x 270 mm drilled cylindrical steering tie-rod  - Aluminium - Anod. RED 14.51

ST094TT M8 x 270 mm drilled cylindrical steering tie-rod  - Aluminium - Anod. TITANIUM 14.51

ST095 M8 x 275 mm drilled cylindrical steering tie-rod  - Aluminium - Anod. GOLD 14.51

ST095BL M8 x 275 mm drilled cylindrical steering tie-rod  - Aluminium - Anod. BLUE 14.51

ST095RS M8 x 275 mm drilled cylindrical steering tie-rod  - Aluminium - Anod. RED 14.51

ST095TT M8 x 275 mm drilled cylindrical steering tie-rod  - Aluminium - Anod. TITANIUM 14.51


'����
.������
���
������0������'�


Pricelist SKM 2003
Page 31



CODE ITEMS SPECIFICATION         Price

ST110DX M8 Right male ball-joint 18.02
ST110SX M8 Left male ball-joint 18.02

ST042TF M8 x 265 mm Teflon steering tie-rod with Brass joint 18.59

ST043TF M8 x 270 mm Teflon steering tie-rod with Brass joint 18.59

ST036AC M8 x 210 mm steering tie-rod - Steel - Tropicalized 5.68
ST037AC M8 x 240 mm steering tie-rod - Steel - Tropicalized 6.20
ST038AC M8 x 250 mm steering tie-rod - Steel - Tropicalized 6.20
ST039AC M8 x 260 mm steering tie-rod - Steel - Tropicalized 6.20

ST040AC M8 x 265 mm steering tie-rod - Steel - Tropicalized 6.20

ST041AC M8 x 270 mm steering tie-rod - Steel - Tropicalized 6.20

ST111SX M8 Left female ball joint 19.01
ST111DX M8 Right female ball joint 19.01

ST047 Left steering uniball lock for steel steering tie-rod - Anod. GOLD 3.10
ST047BL Left steering uniball lock for steel steering tie-rod - Anod. BLUE 3.10
ST047RS Left steering uniball lock for steel steering tie-rod - Anod. RED 3.10
ST047TT Left steering uniball lock for steel steering tie-rod - Anod. TITANIUM 3.10

ST048 Right steering uniball lock for steel steering tie-rod - Anod. GOLD 3.10
ST048BL Right steering uniball lock for steel steering tie-rod - Anod. BLUE 3.10
ST048RS Right steering uniball lock for steel steering tie-rod - Anod. RED 3.10
ST048TT Right steering uniball lock for steel steering tie-rod - Anod. TITANIUM 3.10

��&�'��
������0������'�



������ )6��$��@!"�
������0������'�


�
�����
������0������'�
��

�

'���


���������������'�
��

�

'���
�

���������������'�
��

�

'���
�

Pricelist SKM 2003
Page 32



CODE ITEMS SPECIFICATION         Price

KTF158 �A'�*�	��,��
.
��#�&'��*��

 497.57
FR062TT Double Brake Pump for 100cc (13-13) 

KTEVO1 REAR Brake pipe kit for EVO1 brake system - homologated - SILVER

FR028TT Rear brake caliper 4 Pistons 60mm

DF010 Ø208,5mm REAR self-vent. brake disk  Holed - Trop.

PP010 Brake pad for REAR brake caliper - Standard Model - 12,5 th. 114 black

KTF159 �A'�2�	��,��
.
��#�&'��*2�

 1,032.29
KTAEVO2 FRONT pipe kit for EVO2 brake system - homologated - SILVER

PA008 Brake pad for FRONT brake caliper - SKM Model - 7,2mm th. 114 Black

FR033TT Left/Right Front brake caliper - 4 Pistons

DF002 Left/Right FRONT self-vent. Brake Disk Holed - Trop.

FR055TT Ø 22mm front/rear brake pump w/adjustable lever

KTPEVO2 REAR pipe kit for EVO2 brake system - homologated - SILVER

FR028TT Rear brake caliper 4 Pistons 60mm

PP010 Brake pad for REAR brake caliper - Standard Model - 12,5 th. 114 black

DF010 Ø208,5mm REAR self-vent. brake disk  Holed - Trop.

KTF159-1 �A'�2�*��	��,��
.
��#�&'��*��

 419.60
FR055TT Ø 22mm front/rear brake pump w/adjustable lever

KTAEVO2 FRONT pipe kit for EVO2 brake system - homologated - SILVER

FR028TT Rear brake caliper 4 Pistons 60mm

PP010 Brake pad for REAR brake caliper - Standard Model - 12,5 th. 114 black

DF010 Ø208,5mm REAR self-vent. brake disk  Holed - Trop.

�A'�2�	��,��
.
��#�&'��*2�

+

��A'2�*�	��,��
.
��#�&'��*��



�A'�*�	��,��
.
��#�&'��*��

+

Pricelist SKM 2003
Page 33



CODE ITEMS SPECIFICATION         Price

���������	
�������
���������������������������

&�'���	��,��0�
.
��#

�8-�'�����A����&�'���	��,��0�
.
��#

Pricelist SKM 2003
Page 34



CODE ITEMS SPECIFICATION         Price

FR096 Front braking group KIT for 125 cc. - 4 Pistons - 2002 Mod. - Anod. GOLD 808.01
FR096BL Front braking group KIT for 125 cc. - 4 Pistons - 2002 Mod. - Anod. BLUE 808.01
FR096RS Front braking group KIT for 125 cc. - 4 Pistons - 2002 Mod. - Anod. RED 808.01
FR096TT Front braking group KIT for 125 cc. - 4 Pistons - 2002 Mod. - Anod. TITANIUM 808.01

Components of  FR096 KIT:
nr. 2  x 11 mm lining self-ventilated Front brake disk - holed - Tropicalized
nr. 2 Front brake caliper 4 pistons with inside oil transit - Anod. - assembled
nr. 2 Front spindle with bearings - all over machined from solid - chromium-plated
nr. 2 sliding Front wheel hub support 
nr. 2 wheel hub Ø 40 x 65 mm for wheel hub support
nr. 6 little column for wheel hub - ERGAL - Anod.

FR039 Front braking group KIT for 125 cc. - 4 Pistons - Anod. GOLD 733.37
FR039BL Front braking group KIT for 125 cc. - 4 Pistons - Anod. BLUE 733.37
FR039RS Front braking group KIT for 125 cc. - 4 Pistons - Anod. RED 733.37
FR039TT Front braking group KIT for 125 cc. - 4 Pistons - Anod. TITANIUM 733.37

Components of FR039 KIT :
nr. 2 x 10 mm lining self-ventilated Front brake disk - holed - Tropicalized
nr. 2 Front brake caliper 4 pistons - Anod. - assembled
nr. 2 Front spindle with bearings - all over machined from solid - chromium-plated
nr. 2 sliding Front wheel hub support
nr. 2 wheel hub Ø 40 x 65 mm for wheel hub support
nr. 6 little column for wheel hub - ERGAL - Anod.

NOTE: Front Braking Group KIT are normally assembled with 10,5 ° Wheel Hubs 

FR037 Right sliding Front wheel hub support - Anod. GOLD 61.97
FR037/BL Right sliding Front wheel hub support - Anod. BLUE 61.97
FR037/RS Right sliding Front wheel hub support - Anod. RED 61.97
FR037/TT Right sliding Front wheel hub support - Anod. TITANIUM 61.97

FR045 Wheel hub Ø 40 x 65 mm for sliding Front wheel hub support - Anod. GOLD 36.67
FR045BL Wheel hub Ø 40 x 65 mm for sliding Front wheel hub support - Anod. BLUE 36.67
FR045RS Wheel hub Ø 40 x 65 mm for sliding Front wheel hub support - Anod. RED 36.67
FR045TT Wheel hub Ø 40 x 65 mm for sliding Front wheel hub support - Anod. TITANIUM 36.67

FR034 Right sliding Front wheel hub support with wheel hub Ø 40 x 65 mm - Anod. GOLD 92.52
FR034/BL Right sliding Front wheel hub support with wheel hub Ø 40 x 65 mm - Anod. BLUE 92.52
FR034/RS Right sliding Front wheel hub support with wheel hub Ø 40 x 65 mm - Anod. RED 92.52

FR034/TT Right sliding Front wheel hub support with wheel hub Ø 40 x 65 mm - Anod. TITANIUM 92.52

&�'���	��,��0�,�������-�
�'�
���() �*2����+���2��2�#'���

&�'���	��,��0�0�'�-�,�������-�
�'�
���() �*2����+

�&�'���	��,��0�0�'�-��

�

'���
�

��	
�������	�
�--'��


Pricelist SKM 2003
Page 35



CODE ITEMS SPECIFICATION         Price

&�'���	��,��
���-��
���-�
�'�
���
'�+������

Pricelist SKM 2003
Page 36



CODE ITEMS SPECIFICATION         Price

�8-�'����A����'&�&�'���	��,��
���-��
���
'�+������

Pricelist SKM 2003
Page 37



CODE ITEMS SPECIFICATION         Price

FR033DX Right Front brake caliper - 4 Pistons - Assembled  - Anod. GOLD 144.01
FR033DX/BL Right Front brake caliper - 4 Pistons - Assembled  - Anod. BLUE 144.01
FR033DX/RS Right Front brake caliper - 4 Pistons - Assembled  - Anod. RED 144.01
FR033DX/TT Right Front brake caliper - 4 Pistons - Assembled  - Anod. TITANIUM 144.01

FR033SX Left Front brake caliper - 4 Pistons - Assembled  - Anod. GOLD 144.01
FR033SX/BL Left Front brake caliper - 4 Pistons - Assembled  - Anod. BLUE 144.01
FR033SX/RS Left Front brake caliper - 4 Pistons - Assembled  - Anod. RED 144.01
FR033SX/TT Left Front brake caliper - 4 Pistons - Assembled  - Anod. TITANIUM 144.01

AD001 Ø 14 mm brass piston for - 4 pistons model - Front brake caliper 4.39
AD002 Ø 17 mm brass piston for - 4 pistons model - Front brake caliper 4.65
AD003 Ø 14 mm oil locking rubber ring for - 4 pistons model - Front brake caliper 1.68
AD004 Ø 17 mm oil locking rubber ring for - 4 pistons model - Front brake caliper 1.94
PA003 Pressure spring pad fixation for Front brake caliper - Tropicalized 0.85
PA004 Screw for spring for Front brake caliper - Tropicalized 1.81
PA005 Tube for Front brake caliper - Tropicalized 1.55
PA006 4 x 8 mm discharge screw for Front brake caliper 0.72
PA018 M6 discharge countersunk head screw 3.76
PA007 6 x 30 mm cilindrical screw for assembling for Front brake caliper 0.52
PA009 0.5 mm lining for brake pad for Front brake caliper - Tropicalized 2.45
PA010 Safety pin for Front brake caliper - Tropicalized 0.98
PP013 Snap ring for safety pin 0.19
PA012 4 x 8 x 1 mm Discharge screw packing for Front brake caliper 0.21
PA013 Inside oil locking rubber belt (OR) for Front brake caliper 0.13
PA015 5 x 10 mm Centering pin for Front brake caliper 1.16

AD018 & )���> $C!��$��6! �,�����
6$ !�6$ ����)�6)�!����() ���6���)���

�)"!�
43.80

Spare parts components for AD018 KIT:
n° 2 x AD001 - Ø 14 mm Brass piston with oil locking rubber ring
n° 2 x AD002 - Ø 17 mm Brass piston with oil locking rubber ring
n° 4 x PA003 - spring for brake pad recovery
n° 4 x PA004 - screw for spring
n° 4 x PA005 - tube for front brake caliper
n° 2 x PA006 - discharge screw 4 x 8 cylindrical
n° 2 x PA018 - M6 discharge countersunk head screw
n° 2 x PA009 - 0.5 mm lining for brake pad
n° 1 x PA010 - safety pin
n° 2 x PP013 - snap ring for safety pin
n° 4 x PA012 - 4 x 8 x 1  discharge screw packing 
n° 2 x PA013 - inside oil locking rubber belt (OR)

&�'���	��,��
���-��
����-�
�'�
���() �,��������

&�'���	��,��
���-��
����-�
�'�
��������������
����
����

Pricelist SKM 2003
Page 38



CODE ITEMS SPECIFICATION         Price

AD002 Ø 17 mm brass piston for - 4 pistons model - Front brake caliper 4.65
AD004 Ø 17 mm oil locking rubber ring for - 4 pistons model - Front brake caliper 1.94
PA019 Supplementary spring for brake pad - Front brake caliper - 2002 Mod. 1.81
PA020 Pressure spring pad - central - for Front brake caliper - 2002 Mod. 1.55
PA021 Screw for spring - central - for Front brake caliper - 2002 Mod. 2.07
PA022 Tube for central screw - Front brake caliper - 2002 Mod. 1.55
PA006 4 x 8 mm discharge screw for Front brake caliper 0.72
PA018 M6 discharge countersunk head screw 3.76
PA007 6 x 30 mm cilindrical screw for assembling for Front brake caliper 0.52
PA023 0.5 mm lining for brake pad for Front brake caliper - Tropicalized 3.56
PA010 Safety pin for Front brake caliper - Tropicalized 0.98
PP013 Snap ring for safety pin 0.19
PA012 4 x 8 x 1 mm Discharge screw packing for Front brake caliper 0.21
PA013 Inside oil locking rubber belt (OR) for Front brake caliper 0.13
PA015 5 x 10 mm Centering pin for Front brake caliper 1.16

AD019 & )���> $C!��$��6! �,�������-���)���2��2�#)"!����
6$ !�6$ ���

�)�6)�!���
45.40

Spare Parts Components for 4 Pistons 2002 Mod. Brake Caliper code AD019
n° 4 x AD002 - Ø 17 mm brass piston for - 4 pistons model - Front brake caliper
n° 2 x PA020 - Pressure spring pad - central - for Front brake caliper - 2002 Mod.
n° 2 x PA021 - Screw for spring - central - for Front brake caliper - 2002 Mod.
n° 2 x PA019 - Supplementary spring for brake pad - Front brake caliper - 2002 Mod.
n° 2 x PA018 - M6 discharge countersunk head screw
n° 2 x PA022 - Tube for central screw - Front brake caliper - 2002 Mod.
n° 2 x PA006 - 4 x 8 mm discharge screw for Front brake caliper
n° 2 x PA023 - 0.5 mm lining for brake pad for Front brake caliper - Tropicalized
n° 2 x PA010 - Safety pin for Front brake caliper - Tropicalized
n° 4 x PP013 - Snap ring for safety pin 
n° 2 x PA012 - 4 x 8 x 1 mm Discharge screw packing for Front brake caliper
n° 2 x PA013 - Inside oil locking rubber belt (OR) for Front brake caliper

&�'���	��,��
���-��
���2��2�#'�+��� ����������
����
�����

Pricelist SKM 2003
Page 39



CODE ITEMS SPECIFICATION         Price

�8-�'����A����'&������	��,��,��

�8-�'����A����'&������	��,��,��

Pricelist SKM 2003
Page 40



CODE ITEMS SPECIFICATION         Price

�8-�'����A����'&������	��,��
���-��
����-�
�'�
�����
�.���0�2��2

Pricelist SKM 2003
Page 41



CODE ITEMS SPECIFICATION         Price

FR028 Rear brake caliper 4 Pistons - 60 mm interax. space - Restyl. 2002 - Assembl. - Anod. GOLD 170.02
FR028BL Rear brake caliper 4 Pistons - 60 mm interax. space - Restyl. 2002 - Assembl. - Anod. BLUE 170.02
FR028RS Rear brake caliper 4 Pistons - 60 mm interax. space - Restyl. 2002 - Assembl. - Anod. RED 170.02
FR028TT Rear brake caliper 4 Pistons - 60 mm interax. space - Restyl. 2002 - Assembl. - Anod. TITANIUM 170.02

FR029 Rear brake caliper 4 Pistons - 85 mm interax. space - Restyl. 2002 - Assembl. - Anod. GOLD 174.00
FR029BL Rear brake caliper 4 Pistons - 85 mm interax. space - Restyl. 2002 - Assembl. - Anod. BLUE 174.00
FR029RS Rear brake caliper 4 Pistons - 85 mm interax. space - Restyl. 2002 - Assembl. - Anod. RED 174.00
FR029TT Rear brake caliper 4 Pistons - 85 mm interax. space - Restyl. 2002 - Assembl. - Anod. TITANIUM 174.00

PP001 Ø 19 mm brass piston with oil locking rubber ring - for Rear brake caliper 4 Pistons Mod. 4.65
PP002 Ø 22 mm brass piston with oil locking rubber ring - for Rear brake caliper 4 Pistons Mod. 4.91
PP003 Ø 19 mm oil locking rubber ring for Rear brake caliper 2.07
PF006 Ø 22 mm oil locking rubber ring 2.07
PP005 Spring for brake pad recovery for Rear brake caliper - Tropicalized 1.55
PP006 Screw for spring for Rear brake caliper- Tropicalized 2.07
PP007 Tube for Rear brake caliper- Tropicalized 1.55
PA018 M6 discharge countersunk head screw 3.76
PP009 Screw 6 x 45 cylindrical for assembling Rear brake caliper 0.72
PP011 0.5 mm lining for brake pad for Rear brake caliper - Tropicalized 2.45
PP012 Safety pin for Rear brake caliper - Tropicalized 0.98
PP013 Safety snap ring 0.19
PP015 6 x 20 centering pin for Rear brake caliper 1.16

PP016 �!$ �> $C!��$��6! ������-���)���#)"!��2��2��!��9���%����6$ !�6$ ���

,��
51.64

Spare Parts Components for 4 Pistons 2002 Restyling Brake Caliper code  : PP016
n° 2 x PP001 - Ø 19 mm brass piston with oil locking rubber ring
n° 2 x PP002 - Ø 22 mm brass piston with oil locking rubber ring
n° 4 x PP005 - Spring for brake pad recovery for Rear brake caliper - Tropicalized 
n° 4 x PP006 - Screw for spring for Rear brake caliper- Tropicalized
n° 4 x PP007 - Tube for Rear brake caliper- Tropicalized
n° 2 x PA018 - M6 discharge countersunk head screw
n° 2 x PP011 - 0.5 mm lining for brake pad for Rear brake caliper - Tropicalized
n° 1 x PP012 - Safety pin for Rear brake caliper - Tropicalized
n° 2 x PP013 - Safety snap ring

�����	��,��
���-��
����-�
�'�
�����
�.���0�2��2

�����	��,��
���-��
�����
�.���0�2��2���
-����-���
�

Pricelist SKM 2003
Page 42



CODE ITEMS SPECIFICATION         Price

�8-�'����A����'&�#�
����
��������	��,��
���-��
���
'�+������

Pricelist SKM 2003
Page 43



CODE ITEMS SPECIFICATION         Price

FR030 Mechanic. rear brake caliper - 60 mm interax. space - Assembled - Adjustable - Anod. GOLD 130.00

FR030BL Mechanic. rear brake caliper - 60 mm interax. space - Assembled - Adjustable - Anod. BLUE 130.00

FR030RS Mechanic. rear brake caliper - 60 mm interax. space - Assembled - Adjustable - Anod. RED 130.00

FR030TT Mechanic. rear brake caliper - 60 mm interax. space - Assembled - Adjustable - Anod. TITANIUM 130.00

FR031 Mechanic. rear brake caliper - 85 mm interax. space - Assembled - Adjustable - Anod. GOLD 130.00
FR031BL Mechanic. rear brake caliper - 85 mm interax. space - Assembled - Adjustable - Anod. BLUE 130.00
FR031RS Mechanic. rear brake caliper - 85 mm interax. space - Assembled - Adjustable - Anod. RED 130.00
FR031TT Mechanic. rear brake caliper - 85 mm interax. space - Assembled - Adjustable - Anod. TITANIUM 130.00

FM001 Ø 19,5 mm Brass piston for mechanical Rear brake caliper 6.71

PP005 Spring for brake pad recovery for Rear brake caliper  - Tropicalized 1.55

PP006 Screw for spring for Rear brake caliper- Tropicalized 2.07

PP007 Tube for Rear brake caliper- Tropicalized 1.55

PP015 6 x 20 centering pin for Rear brake caliper 1.16

FM008 Lever KIT for mechanical Rear brake caliper 29.70

FM009 Screw with nut for lever assembling for mechanical Rear brake caliper 0.90

FM011 Knurled screw  for adjustment distance between brake pad and brake disk - mechanical brake caliper 4.16

PP012 Safety pin for Rear brake caliper- Tropicalized 0.98

PP013 Safety snap ring (Seeger) 0.19

AR230 Wire register lock for Mechanical Brake Caliper with registers assembled 4.65

#�
����
��������	��,��
���-��


#�
����
��������	��,��
���-��
���
-����-���


Pricelist SKM 2003
Page 44



CODE ITEMS SPECIFICATION         Price

���A��
���	��,����

���0��,�����
'�+������

Pricelist SKM 2003
Page 45



CODE ITEMS SPECIFICATION         Price

PA008 7,2 mm. Brake pad for FRONT brake caliper - Standard Model 18.00

PA025 7,2 mm. Brake pad for FRONT brake caliper - SKM Model - 113 BLUE 18.00

PP010 12,5 mm. Brake pad for REAR brake caliper - Standard Model 19.11

PP017 11,5 mm. REAR Brake pad - SKM Special drawing for MMC light alloy brake disk 19.11

PA016 8,5 mm. FRONT Brake pads KIT  - SKM special drawing for cast-iron brake disk 41.01

PA017 8 mm. FRONT Brake pads KIT - SKM special drawing for MMC light alloy brake disk 72.50

PA024 6,2 mm.FRONT Brake pad - SKM Special drawing for MMC light alloy brake disk 36.25

AR116 Brake discharge KIT - Anodized - Fitted for :  M10 x 1 ; M6 ; 1/8 GAS 96.00

FR035 	 $C��%�,���() �D	�	.�,���E�����)"+�0'�� 154.94
Components of FR035 Braking KIT  for “BABY KART” :
n° 1 DF013 - Steel brake disk Ø 160 x 3 mm. – tropicalized
n° 1 FR050 - Brake caliper for “Baby Kart “ – Black coloured
n° 1 PD020 - Brake disk support Ø 25 mm for “BABY KART” – Anod. GOLD

FR050 Brake caliper for “Baby Kart “ – Black coloured 102.26

FR051 Brake pad for "Baby Kart"  brake caliper 14.41

	��,��
���-���() �D	�	.�,���E���2��2���
�.���0

	��,��-��


	��,��-��


	��,����

���0��,��

Pricelist SKM 2003
Page 46



CODE ITEMS SPECIFICATION         Price

�8-�'����A����'&�	��,��-�#-�#'�+������-�
�'��/��*��4�*��/�() �*�����+

Pricelist SKM 2003
Page 47



CODE ITEMS SPECIFICATION         Price

FR062 Brake Pump "Dual Piston" Mod. (13 - 13) for 100 cc - Assembled - Anod. GOLD 131.95

FR062BL Brake Pump "Dual Piston" Mod. (13 - 13) for 100 cc - Assembled - Anod. BLUE 131.95

FR062RS Brake Pump "Dual Piston" Mod. (13 - 13) for 100 cc - Assembled - Anod. RED 131.95

FR062TT Brake Pump "Dual Piston" Mod. (13 - 13) for 100 cc - Assembled - Anod. TITANIUM 131.95

PF001 M10 x 1 oil stopper for brake pump 1.94
PF002 Oil stopper packing for brake pump 0.31
PF030 Helicoidal spring for Brake pump Ø 13 mm - Tropicalized 4.00
PF032 Ø 13 mm oil locking rubber ring 2.00
PF035 Ø 13 mm clamping seeger 1.05
PF036 Cap clamping guard-holder 6.00
PF043 M5 x 5 stop dowel with conic tip 0.50
PF037 Bellows dusty guard 4.49

PF040 ��*�����-���)��,��� 21.76
Spare parts components of PF040 KIT:

n° 2 x PF031 – Bushing guide spring
n° 4 x PF032 – Ø 13 mm oil locking rubber ring
n° 2 x PF033 – Short hemi piston
n° 2 x PF034 – Long hemi piston

PF041 ,���() ��)$"�"��� �>���)���6)��6 !���6���)�� 32.51
Spare parts components of PF041 KIT:

n° 2 x PF038 – Little rods press-piston with bolt
n° 3 x FR025 – Short little fork with clip for brake pump tie-rod - Tropicalized
n° 1 x PF039 – Connecting plate

PF042 ��$��6���)���/�*����*��/�	 $C!�6��6�,������() ��*�����+ 68.51
Spare parts components of dual piston Brake Pump KIT: Cod. PF042

n° 2 x PF001 - M10 x 1 oil stopper for brake pump
n° 2 x PF002 - Oil stopper packing for brake pump
n° 2 x PF030 - Helicoidal spring for Brake pump Ø 13 mm - Tropicalized
n° 1 x PF040 - Ø 13 mm complete Piston KIT
n° 2 x PF035 - Ø 13 mm clamping seeger
n° 2 x PF036 - cap clamping guard-holder
n° 2 x PF043 - M5 x 5 stop dowel with conic tip
n° 2 x PF037 - Bellows dusty guard
n° 1 x PF041 - KIT for load distribution upon press-pistons

	��,��-�#-�#'�+������-�
�'��/��*��4�*��/�() �*�����+

	��,��-�#-�#'�+������-�
�'��/��*��4�*��/�() �*�����+���
-����-���


Pricelist SKM 2003
Page 48



CODE ITEMS SPECIFICATION         Price

FR018 Ø 22 mm brake pump - Assembled with FIXED lever - Anod. GOLD 56.04
FR018BL Ø 22 mm brake pump - Assembled with FIXED lever - Anod. BLUE 56.04
FR018RS Ø 22 mm brake pump - Assembled with FIXED lever - Anod. RED 56.04
FR018TT Ø 22 mm brake pump - Assembled with FIXED lever - Anod. TITANIUM 56.04

FR055 Ø 22 mm brake pump - Assembled with ADJUSTABLE lever - Anod. GOLD 59.65
FR055BL Ø 22 mm brake pump - Assembled with ADJUSTABLE lever - Anod. BLUE 59.65
FR055RS Ø 22 mm brake pump - Assembled with ADJUSTABLE lever - Anod. RED 59.65
FR055TT Ø 22 mm brake pump - Assembled with ADJUSTABLE lever - Anod. TITANIUM 59.65

PF001 M10 x 1 oil stopper for brake pump 1.94
PF002 Oil stopper packing for brake pump 0.31
PF004 Brass piston with oil locking rubber rings for Ø 22 mm brake pump 7.10
PF006 Ø 22 mm oil locking rubber ring 2.25
PF008 Ø 22 mm inside dusty cap rubber ring 1.21
PF010 Recovery helical spring for brake pump Ø 22 - Tropicalized 2.19
PF011 Fixed lever complete - Tropicalized 16.78
PF017 Adjustable lever complete - Tropicalized 16.01
PF012 5 x 20 mm pin for lever brake pump 0.77
PF013 6 x 5 mm safety threaded pin 0.39

PF015BL Outside dusty cap for Brake Pump - BLUE colour 8.78
PF015RS Outside dusty cap for Brake Pump - RED colour 8.78
PF015NR Outside dusty cap for Brake Pump - BLACK colour 8.78

PF016 	 $C!�6��6���22������,����6$ !�6$ ����)�6)�!��� 24.66
Spare parts components of PF016 Brake Pump  KIT :
n° 1 x PF001 - oil stopper 
n° 1 x PF002 - oil locking rubber ring
n° 1 x PF006 - oil stopper packing Ø 22 mm
n° 1 x PF008 - dusty cap rubber ringfor brake pump Ø 22 mm
n° 1 x PF010 - helical spring for brake pump Ø 22 mm - Tropicalized
n° 1 x PF012 - 5 x 20 mm pin for brake pump lever
n° 1 x PF013 - 6 x 5 mm safety threaded pin for brake pump
n° 1 x PF015BL - outside dusty cap - BLUE colour

	��,��-�#-��#'�+�/���22�##�/

��22�##�	��,��-�#-���
-����-���


Pricelist SKM 2003
Page 49



CODE ITEMS SPECIFICATION         Price

FR020 Spacer for brake pump - Aluminium - Anod. GOLD 1.68
FR020BL Spacer for brake pump - Aluminium - Anod. BLUE 1.68
FR020RS Spacer for brake pump - Aluminium - Anod. RED 1.68
FR020TT Spacer for brake pump - Aluminium - Anod. TITANIUM 1.68

�8-�-'����A����'&�	��,��-�#-�/���22���+�/����������������


-�
���() �	��,��-�#-

Pricelist SKM 2003
Page 50



CODE ITEMS SPECIFICATION         Price

FR002BL &�'���	 $C!�6�6!�,�����(��$���$�!��)��!��) ���
�!!��(�!F�>�!��)=! ��%���

���!�>�!"���	�����)�)� 
72.72

Components of Rear Brake pipe KIT : Cod. FR002BL
n° 1 x FR007 - 545 mm brake pipe length
n° 2 x FR008 - 580 mm brake pipe length
n° 1 x FR009 - 1/8 straight fitting
n° 2 x FR010 - 1/8 " L " type fitting
n° 1 x FR011 - " T " Type fitting

FR041BL &�'���	 $C!�6�6!�,�����(��$���$�!��)��!��) ���
�!!��(�!F�>�!��)=! ��%���

���!�>�!"���	�����)�)� 
68.59

Components of Rear Brake pipe KIT : Cod. FR041BL
n° 1 x FR044 - 660 mm brake pipe length
n° 1 x FR043 - 460 mm brake pipe length
n° 1 x FR042 - 320 mm brake pipe length
n° 1 x FR011 - " T " Type fitting
n° 3 x FR010 - 1/8 " L " type fitting 

FR003BL &�'���	 $C!�6�6!�,�����(��$���$�!��)��!��) ���
�!!��(�!F�>�!��)=! ��%���

���!�>�!"���	�����)�)� 
59.91

Components of Rear Brake pipe KIT : Cod. FR003BL
n° 1 x FR004 - 155 mm brake pipe length
n° 1 x FR005 - 240 mm brake pipe length
n° 1 x FR006 - 515 mm brake pipe length
n° 1 x FR009 - 1/8 straight fitting
n° 2 x FR010 - 1/8 " L " type fitting 
n° 1 x FR011 - "T" type fitting

KTEVO1 �)�)�)%$�!"������> $C!�6�6!�,������� $�%���(��$���)��!��) ����


��A������
���!$��
71.92

Components KTEVO1:

N°1 1100mm brake pipe

N° 2 straight fitting

N° 2 x  1/8 " L" type fitting

KTAEVO2 �)�)�)%$�!"�&�'���> $C!�6�6!�,������� $�%���(��$���)��!��) ����


��A������
���!$��
75.80

Components of KTAEVO2:
N° 1  660mm brake pipe
N° 1  460mm brake pipe
N° 1  320mm brake pipe
N° 3 x  1/8 " L" type fitting
N° 1  " T " type fitting

	��,��-�-�
�,��

Pricelist SKM 2003
Page 51



CODE ITEMS SPECIFICATION         Price

KTPEVO2 �)�)�)%$�!"������> $C!�6�6!�,������� $�%���(��$���)��!��) ����


��A������
���!$��
67.12

Components of KTPEVO2:
N° 1 155mm brake pipe
N° 1 240mm brake pipe
N° 1 525mm brake pipe
N° 1 straight fitting
N° 2 x  1/8 " L" type fitting
N° 1  " T " type fitting

	��,��-�-�
������&�����#����
'���
�'�

FR004BL 155 mm. - Brake pipe with final male connector - Steel flexible covering - BLUE Colour 11.98
FR005BL 240 mm. - Brake pipe with final male connector - Steel flexible covering - BLUE Colour 13.43
FR042BL 320 mm. - Brake pipe with final male connector - Steel flexible covering - BLUE Colour 14.87
FR043BL 460 mm. - Brake pipe with final male connector - Steel flexible covering - BLUE Colour 17.56
FR006BL 515 mm. - Brake pipe with final male connector - Steel flexible covering - BLUE Colour 18.39
FR007BL 545 mm. - Brake pipe with final male connector - Steel flexible covering - BLUE Colour 18.80
FR008BL 580 mm. - Brake pipe with final male connector - Steel flexible covering - BLUE Colour 19.63
FR044BL 660 mm. - Brake pipe with final male connector - Steel flexible covering - BLUE Colour 21.28
FR061BL  1.100 mm. - Brake pipe with final male connector - Steel flexible covering - BLUE Colour 25.60

	��,��-�-�
�&�����0
������&�����#����
'���
�'�

FR009 1/8 straight fitting for brake pipe with Steel flexible covering 1.34
FR010 1/8 " L " type fitting for brake pipe with Steel flexible covering 3.00
FR011 " T " type fitting for brake pipe with Steel flexible covering 5.58
FR094 Bolt for brake pipe fitting with final "eye" pipe connection - M10 x 1 Ergal Anod. BLUE 5.78
FR095 Aluminium washer for bolt  "eye " pipe connection 1.04

	��,��-�-���#'�+�����
��

FR012 4 x 6 mm nylon brake pipe - RIENSEN Mod. - Per Foot 2.00

FR090 1/8 straight fitting - with nose - for brake pipe with straight final connector and Riensen type 1.77
FR091 1/8 " L " type fitting - with nose - for brake pipe with straight final connector and Riensen type 2.80
FR092 1/8 " T " type fitting - with nose - for brake pipe with straight final connector and Riensen type 4.96
FR093 Nose for fitting straight final connector and Riensen brake pipes 0.60

����
���	��,��-�-�
�&�����0


Pricelist SKM 2003
Page 52



CODE ITEMS SPECIFICATION         Price

FR097 Ø 8 mm. Special hose clamp for brake pipe clamping 2.77

FR021 M6 x 340 mm brake pump tie-rod - Steel - Chromium-Plated 4.52

FR036 M6 x 380 mm brake pump tie-rod - Steel - Chromium-Plated 4.52

FR022 M6 x 410 mm brake pump tie-rod - Steel - Chromium-Plated 4.52

FR023 M6 x 430 mm brake pump tie-rod - Steel - Chromium-Plated 4.52

FR024 M6 x 450 mm brake pump tie-rod - Steel - Chromium-Plated 4.52

FR098 M6 x 550 mm brake pump tie-rod - Steel - Chromium-Plated 6.02

FR064 M6 x 575 mm brake pump tie-rod - Steel - Chromium-Plated 5.50

FR056 M6 x 410 mm adjustable brake pump tie-rod with spring, braking distribution handle, long little fork, clip 16.78

FR057 M6 x 430 mm adjustable brake pump tie-rod with spring, braking distribution handle, long little fork, clip 16.78

FR058 M6 x 450 mm adjustable brake pump tie-rod with spring, braking distribution handle, long little fork, clip 16.78

FR104 320mm steel safety cable with long fork and clip 18.15

FR105 350mm steel safety cable with long fork and clip 18.15

FR106 380mm steel safety cable with long fork and clip 18.15

FR025 Short little fork with clip for pedal - Tropicalized 4.65

FR026 Long little fork with clip for pedal - Tropicalized 5.16

AR098 Safety pin with snap ring for short / long little fork 1.03

FR046 Braking distribution for brake pump with Fixed lever with little forks and clips 69.92

FR047 Braking distribution for brake pump with Adjustable lever with little forks and clips 74.98


�	��������'��&'�,


	��,��0���
���	���'�
�() �*2��

+�����0��

�'
��
��#-�&'��	��,��-�-���
��#-��0

	��,��-�#-������'����
�����
��'#��#�-�����


�&��.�
�	��

Pricelist SKM 2003
Page 53



CODE ITEMS SPECIFICATION         Price

DF001SX Left FRONT self-ventilated Brake Disk cast-iron - with Grooves - Tropicalized 51.23
DF001DX Right FRONT self-ventilated Brake Disk cast-iron - with Grooves - Tropicalized 51.23

DF002SX Left FRONT self-ventilated Brake Disk cast-iron - Holed - Tropicalized 56.19
DF002DX Right FRONT self-ventilated Brake Disk cast-iron - Holed - Tropicalized 56.19

DF003 Ø 200 mm REAR self-ventilated brake disk - with Grooves - Tropicalized 65.07

DF004 Ø 200 mm REAR self-ventilated brake disk - Holed - Tropicalized 72.30

DF009 Ø 208,5 mm REAR self-ventilated brake disk - with Grooves - Tropicalized 65.07

DF010 Ø 208,5 mm REAR self-ventilated brake disk - Holed - Tropicalized 72.30

DF020 Ø 206 x 13,5 mm REAR ultra-light alloy MMC self-ventilated Brake Disk 284.01

DF006 Ø 200 x 6 mm REAR solid cast-iron Brake Disk - Holed - Tropicalized 40.28

DF008 Ø 200 x 8 mm REAR solid cast-iron Brake Disk - Holed - Tropicalized 46.48

DF012 Ø 208,5 x 8 mm REAR solid cast-iron Brake Disk - Holed - Tropicalized 48.56

DF014 Ø 208,5 x 6 mm REAR solid cast-iron Brake Disk - Not Holed - Tropicalized 39.40
DF015 Ø 208,5 x 8 mm REAR solid cast-iron Brake Disk - Not Holed - Tropicalized 44.81
DF016 Ø 208,5 x 10 mm REAR solid cast-iron Brake Disk - Not Holed - Tropicalized 54.21

DF005 Ø 200 x 6 mm REAR solid steel Brake Disk - Tropicalized 24.38

DF007 Ø 200 x 8 mm REAR solid steel Brake Disk - Holed - Tropicalized 30.16

DF011 Ø 208,5 x 8 mm REAR solid steel Brake Disk - Holed - Tropicalized 32.23

DF013 Ø 160 x 3 mm REAR solid steel Brake Disk for BabyKart - Tropicalized 22.31

��������0������'.��/##
/�
��&�A����������	��,����
,
�


�
����'��/
'���/�	��,����
,
�


'����
�����	��,����
,


	��,����
,



�
����'��
��&�A����������	��,����
,
�

Pricelist SKM 2003
Page 54



CODE ITEMS SPECIFICATION         Price

PM003MG Ø 30 x 92 mm engine mount with brackets - MG - special cataphoresis treatment 81.34

PM004MG Ø 32 x 92 mm engine mount with brackets - MG - special cataphoresis treatment 86.51

PM025MG M24 engine mount - Yellow treatment 164.50

PM008 Ø 30 x 92 mm engine mount with brackets - Anod. GOLD 90.32
PM008BL Ø 30 x 92 mm engine mount with brackets - Anod. BLUE 90.32
PM008RS Ø 30 x 92 mm engine mount with brackets - Anod. RED 90.32
PM008TT Ø 30 x 92 mm engine mount with brackets - Anod. TITANIUM 90.32

PM010 Ø 32 x 92 mm engine mount with brackets - Anod. GOLD 90.32
PM010BL Ø 32 x 92 mm engine mount with brackets - Anod. BLUE 90.32
PM010RS Ø 32 x 92 mm engine mount with brackets - Anod. RED 90.32
PM010TT Ø 32 x 92 mm engine mount with brackets - Anod. TITANIUM 90.32

PM016 Ø 32 x 92 mm sliding engine mount with brackets - Anod. GOLD 118.80
PM016BL Ø 32 x 92 mm sliding engine mount with brackets - Anod. BLUE 118.80
PM016RS Ø 32 x 92 mm sliding engine mount with brackets - Anod. RED 118.80
PM016TT Ø 32 x 92 mm sliding engine mount with brackets - Anod. TITANIUM 118.80

PM026 Sliding engine mount upper part - Anod. GOLD 56.00
PM026BL Sliding engine mount upper part - Anod. BLUE 56.00
PM026TT Sliding engine mount upper part - Anod. TITANIUM 56.00

PM027 Sliding engine mount lower part - Anod. GOLD 53.60
PM027BL Sliding engine mount lower part - Anod. BLUE 53.60
PM027TT Sliding engine mount lower part - Anod. TITANIUM 53.60


�����0���0����#'�����'����-���

#$%�!�����
$����%���0����#'���


������������0����#'���
���#$����!"�( )���)��"

����������
�����0���0����#'������#$����!"�( )���)��"


�����0���0����#'�����--���-���

��0����#'���


Pricelist SKM 2003
Page 55



CODE ITEMS SPECIFICATION         Price

AR106 Chain stretcher support for 100 cc. and 125 cc. - Anod. GOLD 27.89
AR106BL Chain stretcher support for 100 cc. and 125 cc. - Anod. BLUE 27.89
AR106RS Chain stretcher support for 100 cc. and 125 cc. - Anod. RED 27.89
AR106TT Chain stretcher support for 100 cc. and 125 cc. - Anod. TITANIUM 27.89

PM019 Ø 30 x 92 mm bracket - Anod.  GOLD 14.20
PM019BL Ø 30 x 92 mm bracket - Anod.  BLUE 14.20
PM019RS Ø 30 x 92 mm bracket - Anod.  RED 14.20
PM019TT Ø 30 x 92 mm bracket - Anod.  TITANIUM 14.20

PM021 Ø 32 x 92 mm bracket - Anod.  GOLD 14.20
PM021BL Ø 32 x 92 mm bracket - Anod.  BLUE 14.20
PM021RS Ø 32 x 92 mm bracket - Anod.  RED 14.20
PM021TT Ø 32 x 92 mm bracket - Anod.  TITANIUM 14.20

PM028 Ø 32 x 92 mm lower bracket - Anod.  BLACK 21.85

PM024 Ø 32 x 92 mm bracket - internal clamping - Anod.  GOLD 13.94
PM024BL Ø 32 x 92 mm bracket - internal clamping - Anod.  BLUE 13.94
PM024RS Ø 32 x 92 mm bracket - internal clamping - Anod.  RED 13.94
PM024TT Ø 32 x 92 mm bracket - internal clamping - Anod.  TITANIUM 13.94

PM029 Ø 32 x 92 mm MG bracket - special cataphoresis treatment 13.94

�'����	��
,��
���	��
,

	��
,��
��2FG2���������������
��#-��0

#�0��
��#�	��
,��


����������
�����
����
���
�


�����
����
����
�--'��
�����	��
,��


����������	��
,��
�() ����0����#'���


Pricelist SKM 2003
Page 56



CODE ITEMS SPECIFICATION         Price

KC005AG UNICO CIK 08 complete bodywork KIT - SILVER colour 178.43
KC005BL UNICO CIK 08 complete bodywork KIT - BLUE colour 178.43
KC005BN UNICO CIK 08 complete bodywork KIT - WHITE colour 178.43
KC005GL UNICO CIK 08 complete bodywork KIT - YELLOW colour 178.43
KC005NR UNICO CIK 08 complete bodywork KIT - BLACK colour 178.43
KC005PR UNICO CIK 08 complete bodywork KIT - PEARL colour 178.43
KC005RS UNICO CIK 08 complete bodywork KIT - RED colour 178.43

AR312AG UNICO CIK 08 side pod - SILVER colour 36.68
AR312BL UNICO CIK 08 side pod - BLUE colour 36.68
AR312BN UNICO CIK 08 side pod - WHITE colour 36.68
AR312GL UNICO CIK 08 side pod - YELLOW colour 36.68
AR312NR UNICO CIK 08 side pod - BLACK colour 36.68
AR312PR UNICO CIK 08 side pod - PEARL colour 36.68
AR312RS UNICO CIK 08 side pod - RED colour 36.68

KC012AG STILO CIK 08 complete bodywork KIT - SILVER colour 191.10
KC012BL STILO CIK 08 complete bodywork KIT - BLUE colour 191.10
KC012BN STILO CIK 08 complete bodywork KIT - WHITE colour 191.10
KC012GL STILO CIK 08 complete bodywork KIT - YELLOW colour 191.10
KC012NR STILO CIK 08 complete bodywork KIT - BLACK colour 191.10
KC012PR STILO CIK 08 complete bodywork KIT - PEARL colour 191.10
KC012RS STILO CIK 08 complete bodywork KIT - RED colour 191.10

AR319AG STILO CIK 08 side pod - SILVER colour 43.22
AR319BL STILO CIK 08 side pod - BLUE colour 43.22
AR319BN STILO CIK 08 side pod - WHITE colour 43.22
AR319GL STILO CIK 08 side pod - YELLOW colour 43.22
AR319NR STILO CIK 08 side pod - BLACK colour 43.22
AR319PR STILO CIK 08 side pod - PEARL colour 43.22
AR319RS STILO CIK 08 side pod - RED colour 43.22

/���
'/�*��H*2��	'�.�'�,�,��

/���
'/�
����-'�


/
���'/�*��H*2��	'�.�'�,�,��

/
���'/�
����-'�



�,H�B��'#'�'0�����	'�.�'�,


Pricelist SKM 2003
Page 57



CODE ITEMS SPECIFICATION         Price

AR305AG CIK 08 spoiler - SILVER colour 65.32
AR305BL CIK 08 spoiler - BLUE colour 65.32
AR305BN CIK 08 spoiler - WHITE colour 65.32
AR305GL CIK 08 spoiler - YELLOW colour 65.32
AR305NR CIK 08 spoiler - BLACK colour 65.32
AR305PR CIK 08 spoiler - PEARL colour 65.32
AR305RS CIK 08 spoiler - RED colour 65.32

AR298AG CIK 08 number holder plate - SILVER colour 45.23
AR298BL CIK 08 number holder plate - BLUE colour 45.23
AR298BN CIK 08 number holder plate - WHITE colour 45.23
AR298GL CIK 08 number holder plate - YELLOW colour 45.23
AR298NR CIK 08 number holder plate - BLACK colour 45.23
AR298PR CIK 08 number holder plate - PEARL colour 45.23
AR298RS CIK 08 number holder plate - RED colour 45.23

KC001AG CIK 02 complete bodywork KIT - SILVER colour 149.37
KC001BL CIK 02 complete bodywork KIT - BLUE colour 149.37
KC001BN CIK 02 complete bodywork KIT - WHITE colour 149.37
KC001GL CIK 02 complete bodywork KIT - YELLOW colour 149.37
KC001NR CIK 02 complete bodywork KIT - BLACK colour 149.37
KC001PR CIK 02 complete bodywork KIT - PEARL colour 149.37
KC001RS CIK 02 complete bodywork KIT - RED colour 149.37

AR002AG CIK 02 side pod - SILVER colour 35.78
AR002BL CIK 02 side pod - BLUE colour 35.78
AR002BN CIK 02 side pod - WHITE colour 35.78
AR002GL CIK 02 side pod - YELLOW colour 35.78
AR002NR CIK 02 side pod - BLACK colour 35.78
AR002PR CIK 02 side pod - PEARL colour 35.78
AR002RS CIK 02 side pod - RED colour 35.78


�,��2�*��H*2��
����-'�


*��H*2��
-'����

*��H*2����#	����'�����-����


�,H�2��'#'�'0�����	'�.�'�,



�,��2�*��H*2��	'�.�'�,�,��

Pricelist SKM 2003
Page 58



CODE ITEMS SPECIFICATION         Price

AR007AG CIK 02 spoiler - SILVER colour 60.26
AR007BL CIK 02 spoiler - BLUE colour 60.26
AR007BN CIK 02 spoiler - WHITE colour 60.26
AR007GL CIK 02 spoiler - YELLOW colour 60.26
AR007NR CIK 02 spoiler - BLACK colour 60.26
AR007PR CIK 02 spoiler - PEARL colour 60.26
AR007RS CIK 02 spoiler - RED colour 60.26

AR005AG CIK 02 number holder plate - SILVER colour 26.44
AR005BL CIK 02 number holder plate - BLUE colour 26.44
AR005BN CIK 02 number holder plate - WHITE colour 26.44
AR005GL CIK 02 number holder plate - YELLOW colour 26.44
AR005NR CIK 02 number holder plate - BLACK colour 26.44
AR005PR CIK 02 number holder plate - PEARL colour 26.44
AR005RS CIK 02 number holder plate - RED colour 26.44

KC003AG Minikart complete bodywork KIT - SILVER colour 109.59
KC003BL Minikart complete bodywork KIT - BLUE colour 109.59
KC003BN Minikart complete bodywork KIT - WHITE colour 109.59
KC003GL Minikart complete bodywork KIT - YELLOW colour 109.59
KC003NR Minikart complete bodywork KIT - BLACK colour 109.59
KC003PR Minikart complete bodywork KIT - PEARL colour 109.59
KC003RS Minikart complete bodywork KIT - RED colour 109.59

AR001AG Minikart side pod - SILVER colour 35.07
AR001BL Minikart side pod - BLUE colour 35.07
AR001BN Minikart side pod - WHITE colour 35.07
AR001GL Minikart side pod - YELLOW colour 35.07
AR001NR Minikart side pod - BLACK colour 35.07
AR001PR Minikart side pod - PEARL colour 35.07
AR001RS Minikart side pod - RED colour 35.07

#���,����	'�.�'�,�,��


�,��2�*��H*2��
����-'�



�,��2�*��H*2��
-'����


�,��2�*��H*2����#	����'�����-����

#���,����	'�.�'�,�,��

Pricelist SKM 2003
Page 59



CODE ITEMS SPECIFICATION         Price

AR004AG Minikart number holder plate - SILVER colour 22.14
AR004BL Minikart number holder plate - BLUE colour 22.14
AR004BN Minikart number holder plate - WHITE colour 22.14
AR004GL Minikart number holder plate - YELLOW colour 22.14
AR004NR Minikart number holder plate - BLACK colour 22.14
AR004PR Minikart number holder plate - PEARL colour 22.14
AR004RS Minikart number holder plate - RED colour 22.14

AR006AG Minikart spoiler - SILVER colour 36.85
AR006BL Minikart spoiler - BLUE colour 36.85
AR006BN Minikart spoiler - WHITE colour 36.85
AR006GL Minikart spoiler - YELLOW colour 36.85
AR006NR Minikart spoiler - BLACK colour 36.85
AR006PR Minikart spoiler - PEARL colour 36.85
AR006RS Minikart spoiler - RED colour 36.85

KC004AG Babykart complete bodywork KIT - SILVER colour 101.16
KC004BL Babykart complete bodywork KIT - BLUE colour 101.16
KC004BN Babykart complete bodywork KIT - WHITE colour 101.16
KC004GL Babykart complete bodywork KIT - YELLOW colour 101.16
KC004NR Babykart complete bodywork KIT - BLACK colour 101.16
KC004PR Babykart complete bodywork KIT - PEARL colour 101.16
KC004RS Babykart complete bodywork KIT - RED colour 101.16

	�	.,����	'�.�'�,�,��

	�	.,����	'�.�'�,�,��

#���,������#	����'�����-����


�,��2�*��H*2��
-'����

Pricelist SKM 2003
Page 60



CODE ITEMS SPECIFICATION         Price

AR147 Nylon support (couple) for CIK type front fairing fastening - RED colour available 7.64

AR148 Couple of snap hooks for CIK type front fairing fastening 32.02

AR013 Lower front spoiler support - Chromium-plated 5.60

AR400 TEFLON support for number holder 4.80

AR014 Upper front spoiler support (couple) - Chromium-plated 12.80

AR016 Plastic number plate - YELLOW 4.04
AR016RS Plastic number plate - RED 4.04
AR016BL Plastic number plate - BLUE 4.04
AR016NR Plastic number plate - BLACK 4.04

AR016AZ Plastic number plate - LIGHT BLUE 4.04

AR016VR Plastic number plate - GREEN 4.04

AR401 Ø 20mm plastic clamp 1.80

AR402 Ø 16mm plastic clamp 1.80

AR017 Number plate lace - BLACK colour available 1.45

AR018 Adhesive plate for front spoiler - YELLOW colour available 1.65

AR243 Front fairing fastening KIT for MiniKart 38.22

AR244 Front fairing fastening KIT for BabyKart 28.10

AR019 CIK type front fairing fastening KIT complet of couple bridle 40.90

AR015 FRONT spoiler support KIT with screws and rubber washers - Chromium-Plated 16.32

&�
�����0
�����
��0���
'#-'����


Pricelist SKM 2003
Page 61



CODE ITEMS SPECIFICATION         Price

AR345 "UNICO" CIK 08 right side bumper for side pod 53.71
AR346 "UNICO" CIK 08 left side bumper for side pod 53.71
AR347 "STILO" CIK 08 right side bumper for side pod 61.10
AR348 "STILO" CIK 08 left side bumper for side pod 61.10

AR349 CIK 08 low front bumper 13.40
AR350 CIK 08 high front bumper 29.84

AR351 New REAR bumper with UNIBALL  standard model 100.49
AR352 New REAR bumper with UNIBALL  "High fastening"  model 100.49

AR353 Ø 32mm REAR bumper support kit - STANDARD 18.02
AR354 Ø 32mm REAR bumper fastening - HIGH MODEL 19.87
AR355 REAR bumper central body - STANDARD 46.59
AR356 REAR bumper central body - HIGH MODEL 50.82

AR357 REAR bumper teflon connection bush (STANDARD + HIGH) 7.70

AR358 Left/right wheel protection with joint (STANDARD + HIGH) 21.18


�,��B�	'�.�'�,�
�--'��


�,��B�&�'���	�#-��



�,��B������	�#-��



�,��B������	�#-����

�

'���



�,��B�	'�.�'�,�
�--'��

Pricelist SKM 2003
Page 62



CODE ITEMS SPECIFICATION         Price

AR009 CIK type LEFT side bumper support for Minikart - Chromium-plated 29.95

AR010 CIK type RIGHT side bumper support for Minikart - Chromium-plated 29.95

AR011 CIK type LEFT side bumper support - Chromium-plated for 100 cc. And 125 cc. 29.95

AR012 CIK type RIGHT side bumper support - Chromium-plated for 100 cc. And 125 cc. 29.95

AR271 Rubber coupling for CIK type side bumper support 3.72

AR020 Front bumper for MiniKart - Chromium-Plated 25.60

AR021 CIK type front bumper - Chromium-plated 23.14

AR259 "EUROPEAN" type front bumper - top reinforced - Chromium-plated for 100 and 125 cc. 30.00

AR023 Rear bumper for MiniKart - Chromium-Plated - Length 580 mm. 28.51

AR427 Homologated rear bumper for MiniKart - Chromium-Plated 57.04

AR024 610 mm. Rear bumper for 100 cc. with silencer holder support - Chromium-Plated 33.47

AR025 610 mm. Rear bumper for 125 cc. ( without silencer holder support ) - Chromium-Plated 30.24

AR245 Rear bumper - U.K. Model 56.81


�,H�2�	'�.�'�,
�
�--'��


	�#-���
�--'��


&�'���	�#-��
�

�����	�#-��


Pricelist SKM 2003
Page 63



CODE ITEMS SPECIFICATION         Price

AR026 Ø 28 mm Rear bumper support KIT - Anod. GOLD 12.91

AR027 Ø 30 mm Rear bumper support KIT - with adjustable pin - Anod. GOLD 15.64
AR027BL Ø 30 mm Rear bumper support KIT - with adjustable pin - Anod. BLUE 15.64
AR027RS Ø 30 mm Rear bumper support KIT - with adjustable pin - Anod. RED 15.64
AR027TT Ø 30 mm Rear bumper support KIT - with adjustable pin - Anod. TITANIUM 15.64

AR028 Ø 32 mm Rear bumper support KIT - with adjustable pin - Anod. GOLD 15.64
AR028BL Ø 32 mm Rear bumper support KIT - with adjustable pin - Anod. BLUE 15.64
AR028RS Ø 32 mm Rear bumper support KIT - with adjustable pin - Anod. RED 15.64
AR028TT Ø 32 mm Rear bumper support KIT - with adjustable pin - Anod. TITANIUM 15.64

AR294 Srew for rear bumpers suppoprt  - adjustable 9.35

AR029 Rubber ring for Rear bumper fastening for Ø 28 mm pipe 3.36
AR030 Rubber ring for Rear bumper fastening for Ø 30 mm pipe 3.36
AR031 Rubber ring for Rear bumper fastening for Ø 32 mm pipe 3.36

AR032AL Ø 28 mm inside bumper normal washer - Aluminium - Anod. GOLD 3.40

AR033AL Ø 30 mm inside bumper normal washer - Aluminium - Anod. GOLD 3.40
AR033AL/BL Ø 30 mm inside bumper normal washer - Aluminium - Anod. BLUE 3.40
AR033AL/RS Ø 30 mm inside bumper normal washer - Aluminium - Anod. RED 3.40
AR033AL/TT Ø 30 mm inside bumper normal washer - Aluminium - Anod. TITANIUM 3.40

AR034AL Ø 32 mm inside bumper normal washer - Aluminium - Anod. GOLD 3.40
AR034AL/BL Ø 32 mm inside bumper normal washer - Aluminium - Anod. BLUE 3.40
AR034AL/RS Ø 32 mm inside bumper normal washer - Aluminium - Anod. RED 3.40
AR034AL/TT Ø 32 mm inside bumper normal washer - Aluminium - Anod. TITANIUM 3.40

AR035AL Outside bumper normal washer - Aluminium - Anod. GOLD 2.84
AR035AL/BL Outside bumper normal washer - Aluminium - Anod. BLUE 2.84
AR035AL/RS Outside bumper normal washer - Aluminium - Anod. RED 2.84
AR035AL/TT Outside bumper normal washer - Aluminium - Anod. TITANIUM 2.84

�

�

'���
�() ������	�#-��


Pricelist SKM 2003
Page 64



CODE ITEMS SPECIFICATION         Price

AR036 610 mm long CIK type Rear bumper rod with Grooves - Chromium-Plated 17.56

AR145 620 mm long CIK type Rear bumper rod with Grooves - Chromium-Plated 17.56

AR189 Side rod - forth pipe - Chromium-Plated 31.76

AR188 Ø 28 mm Rear torsion rod - Chromium-Plated 29.70

AR037 Rear torsion rod KIT with clamp for Ø 30 mm chassis 114.91
AR038 Rear torsion rod KIT with clamp for Ø 32 mm chassis 114.91

AR234 Floor plate for BabyKart - Anod. GOLD 76.18

AR048 Floor plate for MiniKart - Anod. GOLD 76.18
AR048BL Floor plate for MiniKart - Anod. BLUE 76.18
AR048RS Floor plate for MiniKart - Anod. RED 76.18
AR048TT Floor plate for MiniKart - Anod. TITANIUM 76.18

AR050 Floor plate for 100 cc. and 125 cc. - Anod. GOLD 85.22
AR050BL Floor plate for 100 cc. and 125 cc. - Anod. BLUE 85.22
AR050RS Floor plate for 100 cc. and 125 cc. - Anod. RED 85.22
AR050TT Floor plate for 100 cc. and 125 cc. - Anod. TITANIUM 85.22

Floor plates on customers' drawing can be done

&�''��-����


�����	�#-����'�


������'�
�'���'�

&�''��-����


Pricelist SKM 2003
Page 65



CODE ITEMS SPECIFICATION         Price

AR039AL Ø 28 mm tightening pipe belt for stabilizer bar - Aluminium - Anod. GOLD 8.52
AR039AL/BL Ø 28 mm tightening pipe belt for stabilizer bar - Aluminium - Anod. BLUE 8.52
AR039AL/RS Ø 28 mm tightening pipe belt for stabilizer bar - Aluminium - Anod. RED 8.52
AR039AL/TT Ø 28 mm tightening pipe belt for stabilizer bar - Aluminium - Anod. TITANIUM 8.52

AR197AL Ø 28 mm tightening pipe belt for stabilizer bar - Aluminium - Reinforced - Anod. GOLD 9.68
AR197AL/BL Ø 28 mm tightening pipe belt for stabilizer bar - Aluminium - Reinforced - Anod. BLUE 9.68
AR197AL/RS Ø 28 mm tightening pipe belt for stabilizer bar - Aluminium - Reinforced - Anod. RED 9.68
AR197AL/TT Ø 28 mm tightening pipe belt for stabilizer bar - Aluminium - Reinforced - Anod. TITANIUM 9.68

AR040AL Ø 30 mm tightening pipe belt for stabilizer bar - Aluminium -  Anod. GOLD 8.52
AR040AL/BL Ø 30 mm tightening pipe belt for stabilizer bar - Aluminium -  Anod. BLUE 8.52
AR040AL/RS Ø 30 mm tightening pipe belt for stabilizer bar - Aluminium -  Anod. RED 8.52
AR040AL/TT Ø 30 mm tightening pipe belt for stabilizer bar - Aluminium -  Anod. TITANIUM 8.52

AR403AL Ø 30 mm tightening pipe belt for stabilizer bar - Aluminium - Reinforced - Anod. GOLD 11.25
AR403AL/BL Ø 30 mm tightening pipe belt for stabilizer bar - Aluminium - Reinforced - Anod. BLUE 11.25
AR403AL/RS Ø 30 mm tightening pipe belt for stabilizer bar - Aluminium - Reinforced - Anod. RED 11.25
AR403AL/TT Ø 30 mm tightening pipe belt for stabilizer bar - Aluminium - Reinforced - Anod. TITANIUM 11.25

AR041AL Ø 32 mm tightening pipe belt for stabilizer bar - Aluminium -  Anod. GOLD 8.52
AR041AL/BL Ø 32 mm tightening pipe belt for stabilizer bar - Aluminium -  Anod. BLUE 8.52
AR041AL/RS Ø 32 mm tightening pipe belt for stabilizer bar - Aluminium -  Anod. RED 8.52
AR041AL/TT Ø 32 mm tightening pipe belt for stabilizer bar - Aluminium -  Anod. TITANIUM 8.52

AR404AL Ø 32 mm tightening pipe belt for stabilizer bar - Aluminium - Reinforced - Anod. GOLD 11.25
AR404AL/BL Ø 32 mm tightening pipe belt for stabilizer bar - Aluminium - Reinforced - Anod. BLUE 11.25
AR404AL/RS Ø 32 mm tightening pipe belt for stabilizer bar - Aluminium - Reinforced - Anod. RED 11.25
AR404AL/TT Ø 32 mm tightening pipe belt for stabilizer bar - Aluminium - Reinforced - Anod. TITANIUM 11.25

������������0������0�-�-��	����

��0������0�-�-��	���

Pricelist SKM 2003
Page 66



CODE ITEMS SPECIFICATION         Price

AR198AL Clamp for Ø 28 mm chassis for  seat support - with screw M6 hole - AL - Anod. GOLD 33.31

AR198AL/BL Clamp for Ø 28 mm chassis for  seat support - with screw M6 hole - AL - Anod. BLUE 33.31

AR198AL/RS Clamp for Ø 28 mm chassis for  seat support - with screw M6 hole - AL - Anod. RED 33.31

AR198AL/TT Clamp for Ø 28 mm chassis for  seat support - with screw M6 hole - AL - Anod. TITANIUM 33.31

AR199AL Clamp for Ø 30 mm chassis for  seat support - with screw M6 hole - AL - Anod. GOLD 33.31
AR199AL/BL Clamp for Ø 30 mm chassis for  seat support - with screw M6 hole - AL - Anod. BLUE 33.31
AR199AL/RS Clamp for Ø 30 mm chassis for  seat support - with screw M6 hole - AL - Anod. RED 33.31
AR199AL/TT Clamp for Ø 30 mm chassis for  seat support - with screw M6 hole - AL - Anod. TITANIUM 33.31

AR184AL Clamp for Ø 32 mm chassis for  seat support - with screw M6 hole - AL - Anod. GOLD 33.31
AR184AL/BL Clamp for Ø 32 mm chassis for  seat support - with screw M6 hole - AL - Anod. BLUE 33.31
AR184AL/RS Clamp for Ø 32 mm chassis for  seat support - with screw M6 hole - AL - Anod. RED 33.31
AR184AL/TT Clamp for Ø 32 mm chassis for  seat support - with screw M6 hole - AL - Anod. TITANIUM 33.31

NOTE:


��#-
�() ���#'A�	���
����
�--'��


Clamps Ø 28 - Ø 30 - Ø 32 mm are also usable for rear torsion rod KIT 


��#-


Pricelist SKM 2003
Page 67



CODE ITEMS SPECIFICATION         Price

AR067 3-litre fuel tank for MINIKART 24.89

AR068 5-litre fuel tank for rent 30.47

AR277 Extractable 8,5-litre fuel tank - "Anti-shaking" feature - general-purpose 63.90

AR070 Extractable 9-litre fuel tank for 100 cc. 42.98

AR072 Extractable 9-litre fuel tank for 125 cc. 49.95

AR226 Extractable 9,5-litre fuel tank Universal for 100 cc. and 125 cc. 63.90

AR082 Recovery tank with cap 6.03

AR155PL Fastening KIT for extractable fuel tank ( bracket + wing nut ) - Plastic 14.72

AR074 Bracket for extractable fuel tank - Aluminium - Anod. GOLD 16.01
AR074BL Bracket for extractable fuel tank - Aluminium - Anod. BLUE 16.01
AR074RS Bracket for extractable fuel tank - Aluminium - Anod. RED 16.01
AR074TT Bracket for extractable fuel tank - Aluminium - Anod. TITANIUM 16.01

AR075PL Wing nut - pin with plastic helical tip for extractable fuel tank fastening 4.13

AR076PL Plastic stopper for extractable fuel tank 1.94

AR156 Double joint for extractable fuel tank for 125 cc. 6.33

&�������,


&�������,


&�������,��

�

'���


Pricelist SKM 2003
Page 68



CODE ITEMS SPECIFICATION         Price

AR078 Ø 6 x 9 mm rubber fuel pipe - Tygon - Per Foot 2.00

AR164 " T " type switch for fuel pipe - Each 2.01

AR165 " Y " type switch for fuel pipe - Each 2.53

AR166 Ø 8.8 - 9.5 mm check spring for fuel pipe - Each 0.47

AR163 Fuel filter 5.29
AR221 Pump for fuel transfer - manual 19.63

AR167 5-litre graduated caraffe 25.25
AR168 250 cc. graduated plastic cylinder 13.00

AR169 500 cc. graduated plastic cylinder 13.51

AR171 Funnel with flexible extension for fuel transfer 23.11
AR172 Funnel with fixed bend extension for fuel transfer 23.11

�

�

'���
��() �&����
.
��#

Pricelist SKM 2003
Page 69



CODE ITEMS SPECIFICATION         Price

AR236 Fiberglass reinforced resin seat - high back - Kalit model - MiniKart - 29cm 90.20
AR327MS Fiberglass reinforced resin seat - high back - Kalit model - 31cm 90.20
AR327ML Fiberglass reinforced resin seat - high back - Kalit model - 32cm 90.20
AR327L Fiberglass reinforced resin seat - high back - Kalit model - 34cm 90.20

AR327XL Fiberglass reinforced resin seat - high back - Kalit model - 36cm 90.20

AR149 Fiberglass reinforced resin seat with flat bottom for BabyKart - Size cm 23 79.53
AR057 Fiberglass reinforced resin seat with flat bottom for MiniKart - Size cm 27 83.67

AR058S Fiberglass reinforced resin seat with flat bottom - 1ª Size - cm 28 85.73
AR058M Fiberglass reinforced resin seat with flat bottom - 2ª Size - cm 30  85.73
AR058L Fiberglass reinforced resin seat with flat bottom - 3ª Size - cm 32  85.73
AR058X Fiberglass reinforced resin seat with flat bottom - 4ª Size - cm 34 85.73

AR150S/BL Fiberglass reinforced resin seat covered with moquette - 1a Size - BLUE Colour 198.32
AR150M/BL Fiberglass reinforced resin seat covered with moquette - 2a Size - BLUE Colour 198.32
AR150L/BL Fiberglass reinforced resin seat covered with moquette - 3a Size - BLUE Colour 198.32
AR150X/BL Fiberglass reinforced resin seat covered with moquette - 4a Size - BLUE Colour 198.32

AR150S/RS Fiberglass reinforced resin seat covered with moquette - 1a Size - RED Colour 198.32
AR150M/RS Fiberglass reinforced resin seat covered with moquette - 2a Size - RED Colour 198.32
AR150L/RS Fiberglass reinforced resin seat covered with moquette - 3a Size - RED Colour 198.32
AR150X/RS Fiberglass reinforced resin seat covered with moquette - 4a Size - RED Colour 198.32

AR150S/NR Fiberglass reinforced resin seat covered with moquette - 1a Size - BLACK Colour 198.32
AR150M/NR Fiberglass reinforced resin seat covered with moquette - 2a Size - BLACK Colour 198.32
AR150L/NR Fiberglass reinforced resin seat covered with moquette - 3a Size - BLACK Colour 198.32
AR150X/NR Fiberglass reinforced resin seat covered with moquette - 4a Size - BLACK Colour 198.32

AR150S/BLRS Fiberglass reinforced resin seat covered with moquette - 1a Size - BLUE & RED Colour 198.32

AR150M/BLRS Fiberglass reinforced resin seat covered with moquette - 2a Size - BLUE & RED Colour 198.32

AR150L/BLRS Fiberglass reinforced resin seat covered with moquette - 3a Size - BLUE & RED Colour 198.32

AR150X/BLRS Fiberglass reinforced resin seat covered with moquette - 4a Size - BLUE & RED Colour 198.32

AR150S/RSNR Fiberglass reinforced resin seat covered with moquette - 1a Size - RED &  BLACK Colour 198.32

AR150M/RSNR Fiberglass reinforced resin seat covered with moquette - 2a Size - RED &  BLACK Colour 198.32

AR150L/RSNR Fiberglass reinforced resin seat covered with moquette - 3a Size - RED &  BLACK Colour 198.32
AR150X/RSNR Fiberglass reinforced resin seat covered with moquette - 4a Size - RED &  BLACK Colour 198.32

#'1������
'A�����
���
���
��������	�
,�


���


&�	��0��

�����&'�
�����
���
���
�����0��	�
,���,�����#'���

&�	��0��

�����&'�
�����
���
���


Pricelist SKM 2003
Page 70



CODE ITEMS SPECIFICATION         Price

AR150S/BLNR Fiberglass reinforced resin seat covered with moquette - 1a Size                                                                  BLUE & 
BLACK Colour 198.32

AR150M/BLNR Fiberglass reinforced resin seat covered with moquette - 2a Size                                                                BLUE & 
BLACK Colour 198.32

AR150L/BLNR Fiberglass reinforced resin seat covered with moquette - 3a Size                                                                     BLUE & 
BLACK Colour 198.32

AR150X/BLNR Fiberglass reinforced resin seat covered with moquette - 4a Size - BLUE & BLACK Colour 198.32

AR270S/BL Fiberglass reinf.resin seat sideways covered moquette - high back - 1a Sz BLUE 112.79
AR270M/BL Fiberglass reinfo.resin seat sideways covered moquette - high back - 2a Sz BLUE 112.79
AR270L/BL Fiberglass reinfor.resin seat sideways covered moquette - high back - 3a Sz  BLUE 112.79
AR270X/BL Fiberglass reinforced resin seat sideways covered moquette - high back - 4a Sz - BLUE 112.79

AR270S/RS Fiberglass reinforced resin seat sideways covered moquette - high back - 1a Size - RED Colour * 112.79
AR270M/RS Fiberglass reinforced resin seat sideways covered moquette - high back - 2a Size - RED Colour * 112.79
AR270L/RS Fiberglass reinforced resin seat sideways covered moquette - high back - 3a Size - RED Colour * 112.79
AR270X/RS Fiberglass reinforced resin seat sideways covered moquette - high back - 4a Size - RED Colour * 112.79

AR270S/NR Fiberglass reinforced resin seat sideways covered moquette - high back - 1a Size - BLACK Colour * 112.79
AR270M/NR Fiberglass reinforced resin seat sideways covered moquette - high back - 2a Size - BLACK Colour * 112.79
AR270L/NR Fiberglass reinforced resin seat sideways covered moquette - high back - 3a Size - BLACK Colour * 112.79
AR270X/NR Fiberglass reinforced resin seat sideways covered moquette - high back - 4a Size - BLACK Colour * 112.79

NOTE:

AR063RS Left and right seat sponge KIT - RED colour 19.75
AR063GL Left and right seat sponge KIT - YELLOW color 22.21

AR059 280 mm Short flat seat support - Chromium-Plated 11.88
AR414 300 mm Short flat seat support - Chromium-Plated 11.88
AR060 320 mm Medium flat seat support - Chromium-Plated 11.88
AR415 340 mm Medium flat seat support - Chromium-Plated 11.88
AR061 360 mm Long flat seat support - Chromium-Plated 11.88
AR159 400 mm Long flat seat support - Chromium-Plated 11.88
AR416 320mm Curved seat support 23.76
AR417 340mm Curved seat support 23.76

AR190 280 mm Short round seat support - Chromium-Plated 23.76
AR191 320 mm Medium round seat support - Chromium-Plated 23.76
AR192 360 mm Long round seat support - Chromium-Plated 23.76
AR193 400 mm Long round seat support - Chromium-Plated 23.76

The moquette sideways covered seats - Code AR270 RED and AR270 BLACK are availlable only upon request

�

�

'���
�&'��
���



��������&'�
�#����
�--'��


#'1������
�����.
�
'A�����
���
�����0��	�
,�

Pricelist SKM 2003
Page 71



CODE ITEMS SPECIFICATION         Price

AR232 Ø 20 x 250 mm. seat support for MiniKart and 4 stroke 13.01

AR233 KIT seat support for MiniKart – Anod. GOLD 47.77
AR233BL KIT seat support for MiniKart – Anod. BLUE 47.77
AR233RS KIT seat support for MiniKart – Anod. RED 47.77
AR233TT KIT seat support for MiniKart – Anod. TITANIUM 47.77

Seat support for MiniKart Code AR233 KIT assembling:

n° 1 x AR232       – Ø 20 x 250 mm. seat support for MiniKart and 4 stroke

n° 1 x AR198AL   – Clamp Ø 28 for removable seat support - Aluminium Anod.

AR216AL Ø 30 x 10 mm seat lining - Aluminium  - Anod. GOLD 3.74
AR216AL/BL Ø 30 x 10 mm seat lining - Aluminium  - Anod. BLUE 3.74
AR216AL/RS Ø 30 x 10 mm seat lining - Aluminium  - Anod. RED 3.74
AR216AL/TT Ø 30 x 10 mm seat lining - Aluminium  - Anod. TITANIUM 3.74

AR217AL Ø 30 x 18 mm seat lining - Aluminium  - Anod. GOLD 4.26
AR217AL/BL Ø 30 x 18 mm seat lining - Aluminium  - Anod. BLUE 4.26
AR217AL/RS Ø 30 x 18 mm seat lining - Aluminium  - Anod. RED 4.26
AR217AL/TT Ø 30 x 18 mm seat lining - Aluminium  - Anod. TITANIUM 4.26

AR062AL Ø 20 x 25 mm seat lining - Aluminium - Anod. GOLD 2.76
AR062AL/BL Ø 20 x 25 mm seat lining - Aluminium - Anod. BLUE 2.76
AR062AL/RS Ø 20 x 25 mm seat lining - Aluminium - Anod. RED 2.76
AR062AL/TT Ø 20 x 25 mm seat lining - Aluminium - Anod. TITANIUM 2.76

#���,����������
��',��
����
�--'��



���������0������������

Pricelist SKM 2003
Page 72



CODE ITEMS SPECIFICATION         Price

AR252 Induction silencer AL29PS ( Model 1750.00.54–GR ) 49.58

AR254 Induction silencer  AV22PS ( Model 1750.00.52–GR ) 49.58

AR256 Induction silencer  AV29PS ( Model 1750.00.56–GR ) 49.58

AR258 Air filter for 100 cc. "Reed Valve Admission" Engines with Ø 22 mm. Hole 48.55

AR428 Clamp for suction filter muff 50x70 3.40

AR194 Ø 30 mm filter support for piston port - Anod. GOLD 44.42
AR194BL Ø 30 mm filter support for piston port - Anod. BLUE 44.42
AR194RS Ø 30 mm filter support for piston port - Anod. RED 44.42
AR194TT Ø 30 mm filter support for piston port - Anod. TITANIUM 44.42

AR195 Ø 32 mm filter support for piston port - Anod. GOLD 44.42
AR195BL Ø 32 mm filter support for piston port - Anod. BLUE 44.42
AR195RS Ø 32 mm filter support for piston port - Anod. RED 44.42
AR195TT Ø 32 mm filter support for piston port - Anod. TITANIUM 44.42

&������
�--'��
�() �/�-�
�'��-'���/���0���


����
��'��
����
��
���������&�����

����
��'��
����
��
����������&�����

Pricelist SKM 2003
Page 73



CODE ITEMS SPECIFICATION         Price

CB0C1 Carburetor Mod. “C1” for Engine 100 cc. Cat. “ICA” - Assembled - Approved  2001 by “CIK/FIA” 353.26

CB0J1 Carburetor Mod. “ICA Junior " Approved - complete with conic flange connector 402.84

AR209 Standard Conveyor - Alluminium - Anod. GOLD 81.34
AR209BL Standard Conveyor - Alluminium - Anod. BLUE 81.34
AR209RS Standard Conveyor - Alluminium - Anod. RED 81.34
AR209TT Standard Conveyor - Alluminium - Anod. TITANIUM 81.34

AR210 Conveyor with fins - nr. 2 type - Aluminium - Anod. GOLD 86.51
AR210BL Conveyor with fins - nr. 2 type - Aluminium - Anod. BLUE 86.51
AR210RS Conveyor with fins - nr. 2 type - Aluminium - Anod. RED 86.51
AR210TT Conveyor with fins - nr. 2 type - Aluminium - Anod. TITANIUM 86.51

AR087 Accelerator pedal for MiniKart - Chromium-Plated 23.50
AR090 Brake pedal for MiniKart - Chromium-Plated 23.50

AR088 Accelerator pedal for 100 cc. ; 125 cc. - Chromium-Plated 24.53
AR091 Brake pedal for 100 cc. and  125 cc. - Chromium-Plated 24.53

AR223 Accelerator pedal for 100 cc. ; 125 cc. - Chromium-Plated - SKM Model 34.86
AR222 Brake pedal for 100 cc. and  125 cc. - Chromium-Plated - SKM Model 37.44

AR089TT Accelerator pedal machined from solid - Aluminium - Anod. TITANIUM  86.51
AR092TT Brake pedal machined from solid - Alluminium - Anod. TITANIUM 86.51


'�A�.'�
�() �
��	����'�

-����


-����
�&'��#���,���

-����
�&'��*��

�����*2�

+


��	����'�


-����
�#�
������&�'#�
'���

Pricelist SKM 2003
Page 74



CODE ITEMS SPECIFICATION         Price

AR093 Pedal spring - Tropicalized 1.94
AR094 Pedal normal washer - Tropicalized 1.24

AR095NR Plastic stopper for pedal - BLACK colour 0.21
AR095RS Plastic stopper for pedal - RED colour 0.21

AR224 Pin for pedal SKM 7.49
AR208PL Anatomical Footrest - Plastic - BLACK colour available 3.10
AR276TT Antislip tube for pedal - Aluminium Anod TITANIUM 24.53

AR099 Clutch lever for 125 cc. - Chromium-plated 21.95

AR231 KIT Clutch lever for 125 cc. - Anod. GOLD 60.68
AR231BL KIT Clutch lever for 125 cc. - Anod. BLUE 60.68
AR231RS KIT Clutch lever for 125 cc. - Anod. RED 60.68
AR231TT KIT Clutch lever for 125 cc. - Anod. TITANIUM 60.68

Clutch lever for 125 cc - Cod. AR231  KIT:
n° 1 x ST053 – Steering wheel hub for 125 cc. - Aluminium Anod.
n° 1 x AR099 – Clutch lever for 125 cc. - Chromium-plated
n° 1 x AR137 – M6 x 30 mm register for sheaths

AR100 Cylindrical 495 mm gear-rod - Aluminium - Anod. GOLD 12.14
AR100BL Cylindrical 495 mm gear-rod - Aluminium - Anod. BLUE 12.14
AR100RS Cylindrical 495 mm gear-rod - Aluminium - Anod. RED 12.14
AR100TT Cylindrical 495 mm gear-rod - Aluminium - Anod. TITANIUM 12.14

AR101 Hexagonal 495 mm gear-rod - Aluminium - Anod. GOLD 12.65
AR101BL Hexagonal 495 mm gear-rod - Aluminium - Anod. BLUE 12.65
AR101RS Hexagonal 495 mm gear-rod - Aluminium - Anod. RED 12.65
AR101TT Hexagonal 495 mm gear-rod - Aluminium - Anod. TITANIUM 12.65

AR246 Gear lever - STD Model " 4 guide " - CHROMIUM-PLATED 37.49

AR247 Gear lever - SKM Model " 2 guide " - CHROMIUM-PLATED 38.99

AR104 M10 gear lever handle - anatomical model  - Aluminium - Anod. GOLD 13.43
AR104BL M10 gear lever handle - anatomical model  - Aluminium - Anod. BLUE 13.43
AR104RS M10 gear lever handle - anatomical model  - Aluminium - Anod. RED 13.43
AR104TT M10 gear lever handle - anatomical model  - Aluminium - Anod. TITANIUM 13.43

�

�

'���
�() �-����



���
��$�"�0���	'8�
'#-'����
�

Pricelist SKM 2003
Page 75



CODE ITEMS SPECIFICATION         Price

AR181 Silencer holder for 100 cc (with screw, washer, springs, rubber washer)                                                              Black 
Treatment - Assembled 18.85

AR182 Silencer holder for 125 cc - Black special Treatment 11.10

AR241 Silencer holder for 125 cc - Tropicalized 11.26

AR200 Rubber washer for silencer holder - Heat Resistant 2.45

AR229AL/TT Ø 25 x 10 mm flared washer for silencer holder - Aluminium - Anod. TITANIUM 1.68

AR242 M10 x 50 countersunk head screw, for silencer holder clamping 0.67

AR113 Silencer holder spring - Anti-Failure Treatment 2.32

AR114 Manifold spring for 100 cc. - Anti-Failure Treatment 1.94

AR274 Manifold spring for 125 cc. - Length 110 mm - Anti-Failure Treatment 2.84
AR115 Manifold spring for 125 cc. with rotating eyelets - Anti-Failure Treatment 4.08

AR272 Multipurpose support - Aluminium - with Ø 16 mm hose clamp 42.61
AR273 Multipurpose support - Aluminium - with Ø 20 mm hose clamp 42.61

AR293 Silencer holder support - Steel Chromium-plated 7.25


����
����'����



����
����'����
�() �*�����$�"�*2���+

�

�

'���
�() �
����
����'����
�

Pricelist SKM 2003
Page 76



CODE ITEMS SPECIFICATION         Price

AR418 ELTO CIK 2003 CARBON exhaust silencer for 125 cc. 315.00

AR419 ELTO CIK 2003 CARBON exhaust silencer for 100 cc. 270.00

AR295 Exhaust silencer for 100 cc. - Type ELTO - Homologated 2002 175.50

AR296 Exhaust silencer for 125 cc. - Type ELTO - Homologated 2002 198.32

AR297 Curved exhaust manifold for silencer  - 100 cc. - Type ELTO 2002 70.00

AR331 Chromium-plated silencer support - long tupe 19.50
AR332 Chromium-plated silencer support - short tupe 16.80
AR333 Silencer holder plate support 14.25
AR334 Curved silencer holder 63.00

AR187 Extension Kit for silencer support - for Ø 30 mm pipe  - Anod. GOLD 13.32
AR187BL Extension Kit for silencer support - for Ø 30 mm pipe  - Anod. BLUE 13.32
AR187RS Extension Kit for silencer support - for Ø 30 mm pipe  - Anod. RED 13.32
AR187TT Extension Kit for silencer support - for Ø 30 mm pipe  - Anod. TITANIUM 13.32

AR240 Extension Kit for silencer support - for Ø 32 mm pipe  - Anod. GOLD 13.32
AR240BL Extension Kit for silencer support - for Ø 32 mm pipe  - Anod. BLUE 13.32
AR240RS Extension Kit for silencer support - for Ø 32 mm pipe  - Anod. RED 13.32
AR240TT Extension Kit for silencer support - for Ø 32 mm pipe  - Anod. TITANIUM 13.32

AR108 Ø 32 x 90 mm silencer support for 125 cc. - Aluminium - Anod. GOLD 48.55

AR109 Ø 32 x 92 mm silencer support for 125 cc. - Aluminium - Anod. GOLD 49.17
AR109BL Ø 32 x 92 mm silencer support for 125 cc. - Aluminium - Anod. BLUE 49.17
AR109RS Ø 32 x 92 mm silencer support for 125 cc. - Aluminium - Anod. RED 49.17
AR109TT Ø 32 x 92 mm silencer support for 125 cc. - Aluminium - Anod. TITANIUM 49.17

�

�

'���
�&'���8���
��
����
��


�8���
��
����
��


�8���
��
����
��
�

New !

New !

New !

Pricelist SKM 2003
Page 77



CODE ITEMS SPECIFICATION         Price

AR142 Disks KIT for "Toe-in" (convergency) for 100 cc. 80.98
AR143 Ø 40 mm disks KIT for convergence for 125 cc. 89.66
AR201 Ø 40 mm disks KIT for convergence for 125 cc. - Anod. Aluminium - H.Q. 115.69
AR202 Disks KIT for convergence for 100 cc. and 125 cc. with bearings - Anod. Aluminium - H.Q. 162.17

AR175 1,2 x 2000 mm - steel wire for accelerator - Each 2.50
AR196 1,2 x 2000 mm - steel wire SWEDISH type for accelerator - Each                                                                       4.80

AR176 1,9 x 2000 mm - Cylindrical terminal steel wire for brake / clutch - Each 4.50
AR177 1,9 x 2000 mm - Cylindrical terminal steel wire SWEDISH type for brake/clutch - Each 6.80

AR227 1,9 x 2000 mm - Spheric terminal steel wire for brake / clutch - Each 4.50

AR228 1,9 x 2000 mm - Spheric terminal steel wire SWEDISH type for brake/clutch - Each 6.80

AR133BN 4.8 x 200 mm tightening wire belt - Plastic - WHITE colour  - Each 0.22
AR133NR 4.8 x 200 mm tightening wire belt - Plastic - BLACK colour - Each 0.22
AR133RS 4.8 x 200 mm tightening wire belt - Plastic - RED colour - Each 0.22

AR134NR 9 x 780 mm tightening wire belt - Plastic - BLACK colour available - Each 0.22

��
,
�,���() ��'������5�
'�A��0��
.�7

��
,
�,���() ��'������5�
'�A��0��
.�7

����
���
��#-
���
�����
������

�

'���



���������


��0������0������	���

Pricelist SKM 2003
Page 78



CODE ITEMS SPECIFICATION         Price

AR140NR Sheath for accelerator wire - inside Teflon -  BLACK colour - Per Foot 1.50
AR140RS Sheath for accelerator wire - inside Teflon -  RED colour - Per Foot 1.50

AR141NR Sheath for brake / clutch wire - inside Teflon -  BLACK colour - Per Foot 2.00
AR141RS Sheath for brake / clutch wire - inside Teflon -  RED colour - Per Foot 2.00

AR135 Sheath terminal for accelerator wire sheath - Each 0.50
AR136 Sheath terminal for brake / clutch wire sheath - Each 0.50
AR137 M6 x 30 mm register for sheaths - Each 2.50
AR138 Little clamp with central screw for accelerator wire - Each 1.50
AR139 Little clamp with side screw for brake / clutch wire - Each 2.00

AR124BL Kart trolley made with bent pipe - BLUE Colour 285.08
AR124RS Kart trolley made with bent pipe - RED Colour 285.08
AR124GL Kart trolley made with bent pipe - YELLOW Colour 285.08

AR125 Kart trolley made with bent pipe - Chromium-Plated 326.40

AR225 Kart trolley Chromium-Plated with Aluminuim Anodized Floor-plate 354.72

AR429 Kart trolley - Chroumium holed Plated - wheels with bearings 340.00

AR426 Work bench 480.00

AR126 Rack tire dismounting device - Chromium-Plated 154.92
AR430 Rack tire dismounting device - large model - Chromium Plated 180.00


�����
������

�

'���


,������'���.���������
���
#'�����0

,������'���.

����
���
#'�����0�

Pricelist SKM 2003
Page 79



CODE ITEMS SPECIFICATION         Price

AR213 Digital carburetor pressure GAUGE - SKM Model - High precision 305.76

AR263 Tyres Pressure GAUGE  - Class 1 - standard model 109.00
AR260 Tyres Pressure GAUGE - SKM Aanalogue Model - Class 1 -  " BAR / PSI " scale 159.00

CR101TT 76 teeth sprocket - Anod. TITANIUM 19.25
CR102TT 77 teeth sprocket - Anod. TITANIUM 19.25
CR103TT 78 teeth sprocket - Anod. TITANIUM 19.25
CR104TT 79 teeth sprocket - Anod. TITANIUM 19.25

CR105TT 80 teeth sprocket - Anod. TITANIUM 19.25

CR106TT 81 teeth sprocket - Anod. TITANIUM 19.25
CR107TT 82 teeth sprocket - Anod. TITANIUM 19.25
CR108TT 83 teeth sprocket - Anod. TITANIUM 19.25
CR109TT 84 teeth sprocket - Anod. TITANIUM 19.25

CR110TT 85 teeth sprocket - Anod. TITANIUM 19.25

CR111TT 86 teeth sprocket - Anod. TITANIUM 19.25

CR112TT 87 teeth sprocket - Anod. TITANIUM 19.25

CR113TT 88 teeth sprocket - Anod. TITANIUM 19.25
CR114TT 89 teeth sprocket - Anod. TITANIUM 19.25
CR115TT 90 teeth sprocket - Anod. TITANIUM 19.25
CR116TT 91 teeth sprocket - Anod. TITANIUM 19.25

CR117TT 92 teeth sprocket - Anod. TITANIUM 19.25

CR118TT 93 teeth sprocket - Anod. TITANIUM 19.25

-��

����0��0�
�����
��'�'#����


-��

����0��0�



-�'
,��
�����-���'�



-�'
,��
�() �*�����+���#'�+�2*G������)"�@!"��/�������#/

Pricelist SKM 2003
Page 80



CODE ITEMS SPECIFICATION         Price

CR119ER 76 teeth sprocket - ERGAL Anod. 27.31
CR120ER 77 teeth sprocket - ERGAL Anod. 27.31
CR121ER 78 teeth sprocket - ERGAL Anod. 27.31
CR122ER 79 teeth sprocket - ERGAL Anod. 27.31

CR123ER 80 teeth sprocket - ERGAL Anod. 27.31

CR124ER 81 teeth sprocket - ERGAL Anod. 27.31
CR125ER 82 teeth sprocket - ERGAL Anod. 27.31
CR126ER 83 teeth sprocket - ERGAL Anod. 27.31
CR127ER 84 teeth sprocket - ERGAL Anod. 27.31

CR128ER 85 teeth sprocket - ERGAL Anod. 27.31

CR129ER 86 teeth sprocket - ERGAL Anod. 27.31

CR130ER 87 teeth sprocket - ERGAL Anod. 27.31

CR131ER 88 teeth sprocket - ERGAL Anod. 27.31
CR132ER 89 teeth sprocket - ERGAL Anod. 27.31
CR133ER 90 teeth sprocket - ERGAL Anod. 27.31
CR134ER 91 teeth sprocket - ERGAL Anod. 27.31

CR135ER 92 teeth sprocket - ERGAL Anod. 27.31

CR136ER 93 teeth sprocket - ERGAL Anod. 27.31

PG001   9 teeth pinion - Standard type - High Resistance 13.01
PG002 10 teeth pinion - Standard type - High Resistance 13.01
PG003 11 teeth pinion - Standard type - High Resistance 15.18

PG004   9 teeth pinion - ROTAX  type 16.63
PG005 10 teeth pinion - ROTAX  type 14.10

PG006   9 teeth pinion - ROTAX inside motoring over type 16.63
PG007 10 teeth pinion - ROTAX inside motoring over type 16.63

PG008   9 teeth pinion - IAME type 14.64
PG009 10 teeth pinion - IAME type 14.28

AR158 Pinion dismounting tool - Chromium-Plated 14.64


-�'
,��
�() �*�����+���#'�+�2*G������0�����)"�@!"

-���'�
�() ��*�����+�����-���'�
���
#'�����0��''�

Pricelist SKM 2003
Page 81



CODE ITEMS SPECIFICATION         Price

CR001AC Ø 30 mm 22 teeth sprocket - Tropicalized Steel - for 125 cc 50.35

CR002AC Ø 30 mm 23 teeth sprocket - Tropicalized Steel - for 125 cc 50.35

CR003AC Ø 30 mm 24 teeth sprocket - Tropicalized Steel - for 125 cc 50.35
CR004AC Ø 30 mm 25 teeth sprocket - Tropicalized Steel - for 125 cc 50.35
CR005AC Ø 30 mm 26 teeth sprocket - Tropicalized Steel - for 125 cc 50.35
CR006AC Ø 30 mm 27 teeth sprocket - Tropicalized Steel - for 125 cc 50.35

CR007AC Ø 30 mm 28 teeth sprocket - Tropicalized Steel - for 125 cc 50.35

CR008AC Ø 30 mm 29 teeth sprocket - Tropicalized Steel - for 125 cc 50.35

CR009AC Ø 35 mm 22 teeth sprocket - Tropicalized Steel - for 125 cc 50.35

CR010AC Ø 35 mm 23 teeth sprocket - Tropicalized Steel - for 125 cc 50.35

CR011AC Ø 35 mm 24 teeth sprocket - Tropicalized Steel - for 125 cc 50.35
CR012AC Ø 35 mm 25 teeth sprocket - Tropicalized Steel - for 125 cc 50.35
CR013AC Ø 35 mm 26 teeth sprocket - Tropicalized Steel - for 125 cc 50.35
CR014AC Ø 35 mm 27 teeth sprocket - Tropicalized Steel - for 125 cc 50.35

CR015AC Ø 35 mm 28 teeth sprocket - Tropicalized Steel - for 125 cc 50.35

CR016AC Ø 35 mm 29 teeth sprocket - Tropicalized Steel - for 125 cc 50.35

CR017AC Ø 40 mm 22 teeth sprocket - Tropicalized Steel - for 125 cc 50.35

CR018AC Ø 40 mm 23 teeth sprocket - Tropicalized Steel - for 125 cc 50.35

CR019AC Ø 40 mm 24 teeth sprocket - Tropicalized Steel - for 125 cc 50.35
CR020AC Ø 40 mm 25 teeth sprocket - Tropicalized Steel - for 125 cc 50.35
CR021AC Ø 40 mm 26 teeth sprocket - Tropicalized Steel - for 125 cc 50.35
CR022AC Ø 40 mm 27 teeth sprocket - Tropicalized Steel - for 125 cc 50.35

CR023AC Ø 40 mm 28 teeth sprocket - Tropicalized Steel - for 125 cc 50.35

CR024AC Ø 40 mm 29 teeth sprocket - Tropicalized Steel - for 125 cc 50.35


-�'
,��
�() �*2�������� )6��$��@!"�
�����

Pricelist SKM 2003
Page 82



CODE ITEMS SPECIFICATION         Price

CR041ER Ø 40 mm 22 teeth sprocket - Anodized Ergal - for 125 cc. 65.98

CR042ER Ø 40 mm 23 teeth sprocket - Anodized Ergal - for 125 cc 65.98

CR043ER Ø 40 mm 24 teeth sprocket - Anodized Ergal - for 125 cc 65.98
CR044ER Ø 40 mm 25 teeth sprocket - Anodized Ergal - for 125 cc 65.98
CR045ER Ø 40 mm 26 teeth sprocket - Anodized Ergal - for 125 cc 65.98
CR046ER Ø 40 mm 27 teeth sprocket - Anodized Ergal - for 125 cc 65.98

CR047ER Ø 40 mm 28 teeth sprocket - Anodized Ergal - for 125 cc 65.98

CR048ER Ø 40 mm 29 teeth sprocket - Anodized Ergal - for 125 cc 65.98

CR081ER Ø 50 mm 22 teeth sprocket - Anodized Ergal - for 125 cc. 69.59

CR082ER Ø 50 mm 23 teeth sprocket - Anodized Ergal - for 125 cc 69.59

CR083ER Ø 50 mm 24 teeth sprocket - Anodized Ergal - for 125 cc 69.59
CR084ER Ø 50 mm 25 teeth sprocket - Anodized Ergal - for 125 cc 69.59
CR085ER Ø 50 mm 26 teeth sprocket - Anodized Ergal - for 125 cc 69.59
CR086ER Ø 50 mm 27 teeth sprocket - Anodized Ergal - for 125 cc 69.59

CR087ER Ø 50 mm 28 teeth sprocket - Anodized Ergal - for 125 cc 69.59

CR088ER Ø 50 mm 29 teeth sprocket - Anodized Ergal - for 125 cc 69.59

CR089ER/TT Ø 50 mm 22 teeth sprocket - 2002 LARGE Mod. - for 125 cc - Ergal Anod. TITANIUM. 82.25

CR090ER/TT Ø 50 mm 23 teeth sprocket - 2002 LARGE Mod. - for 125 cc - Ergal Anod. TITANIUM 82.25

CR091ER/TT Ø 50 mm 24 teeth sprocket - 2002 LARGE Mod. - for 125 cc - Ergal Anod. TITANIUM 82.25
CR092ER/TT Ø 50 mm 25 teeth sprocket - 2002 LARGE Mod. - for 125 cc - Ergal Anod. TITANIUM 82.25
CR093ER/TT Ø 50 mm 26 teeth sprocket - 2002 LARGE Mod. - for 125 cc - Ergal Anod. TITANIUM 82.25
CR094ER/TT Ø 50 mm 27 teeth sprocket - 2002 LARGE Mod. - for 125 cc - Ergal Anod. TITANIUM 82.25

CR095ER/TT Ø 50 mm 28 teeth sprocket - 2002 LARGE Mod. - for 125 cc - Ergal Anod. TITANIUM 82.25

CR096ER/TT Ø 50 mm 29 teeth sprocket - 2002 LARGE Mod. - for 125 cc - Ergal Anod. TITANIUM 82.25


-�'
,��
�() �*2�������2��2����0��#'�+�����0�����)"+��������#


-�'
,��
�() �*2���������)"�@!"���0��

Pricelist SKM 2003
Page 83



CODE ITEMS SPECIFICATION         Price

CT026 Chain test device for 100 cc. 19.99
CT027 Chain test device for 125 cc. 19.99

AR083 Lamellar chain guard for 100 cc. 3.87
AR084 Valve chain guard for 100 cc. 4.11
AR086 Chain guard support for 100 cc. - Chromium-Plated 3.87
AR085 Chain guard for 60 cc. - 125 cc. - RENT 3.87

AR424 Inside chain support for 100cc - BLACK colour 12.42

AR425 Outside chain support for 100cc - RED colour 16.29


������

�

'���



������

�

'���


Pricelist SKM 2003
Page 84



CODE ITEMS SPECIFICATION         Price

GT020 Straight radiator for 100 cc. - Dim. Width 196 mm x Length 305 mm 108.01

GT008 Straight radiator for 125 cc. - Dim.  Width 196 mm x Length 350 mm 142.53

GT009 Bent radiator for 125 cc. - Dim.  Width 196 mm x Length 410 mm 199.95

GT012TT Radiator support KIT with silenblock - Chromium-Plated - Washer Anod. TITANIUM 41.06

GT027 Radiator support with brackets 49.50

GT005 Ø 30 mm pulley - Anod. GOLD 30.99
GT005BL Ø 30 mm pulley - Anod. BLUE 30.99
GT005RS Ø 30 mm pulley - Anod. RED 30.99
GT005TT Ø 30 mm pulley - Anod. TITANIUM 30.99

GT006 Ø 35 mm pulley - Anod. GOLD 30.99
GT006BL Ø 35 mm pulley - Anod. BLUE 30.99
GT006RS Ø 35 mm pulley - Anod. RED 30.99
GT006TT Ø 35 mm pulley - Anod. TITANIUM 30.99

GT007 Ø 40 mm pulley - Anod. GOLD 30.99
GT007BL Ø 40 mm pulley - Anod. BLUE 30.99
GT007RS Ø 40 mm pulley - Anod. RED 30.99
GT007TT Ø 40 mm pulley - Anod. TITANIUM 30.99

GT024 Ø 40 mm pulley - PLASTIC - double race (small / big) - BLUE Colour 19.37

GT022TT Ø 45 mm pulley - Anod. TITANIUM 30.99

GT019 Ø 50 mm pulley - Anod. GOLD 30.99
GT019BL Ø 50 mm pulley - Anod. BLUE 30.99
GT019RS Ø 50 mm pulley - Anod. RED 30.99
GT019TT Ø 50 mm pulley - Anod. TITANIUM 30.99

������'�


������'�


������'��
�--'���,���

-����.


-����.


Pricelist SKM 2003
Page 85



CODE ITEMS SPECIFICATION         Price

GT003 Water pump - Aluminium 83.51

GT023 Water pump – Plastic - with internal vitrified – BLUE Colour 45.71

GT025 Cooling system - Plastic - water pump, double race  pulley, 2 OR 55.78
Cooling System KIT assembling - Cod. GT025
N° 2 x GT001  - OR water pump rubber belt
N° 1 x GT023 - Water pump - Plastic - with internal vetrified - BLUE Colour
N° 1 x GT024 - Ø 40 mm pulley - PLASTIC - double race (small / big) - BLUE Colour

GT001 Water pump rubber belt (OR) 1.55

GT017 Ø 30 mm support for water pump for 100 cc. 29.95
GT018 Ø 32 mm support for water pump for 100 cc. 29.95

GT013 Radiator pipe with a bend end 17.15
GT014 Radiator pipe with dual bend ends 25.41
GT015 Radiator pipe - Per Foot 3.79

GT016 Hose clamp for radiator pipe 1.76

GT021 Washer for radiator support KIT - Aluminium - Anod. GOLD 2.45
GT021BL Washer for radiator support KIT - Aluminium - Anod. BLUE 2.45
GT021RS Washer for radiator support KIT - Aluminium - Anod. RED 2.45
GT021TT Washer for radiator support KIT - Aluminium - Anod. TITANIUM 2.45

GT010 35 mm radiator lining - Anod. GOLD 2.84
GT010BL 35 mm radiator lining - Anod. BLUE 2.84
GT010RS 35 mm radiator lining - Anod. RED 2.84
GT010TT 35 mm radiator lining - Anod. TITANIUM 2.84


''���0�
�
��#���A���'�
�
'#-'����


Pricelist SKM 2003
Page 86



CODE ITEMS SPECIFICATION         Price

AR094 Pedal normal washer 1.50

VT032 M8 flanged self-locking nut - Wheel hub clamping - recommended by CIK-FIA for Internationals Race 2.10

VT015 M6 small nut 0.18
VT005 M6 small self-locking nut 0.18
VT018 M8 small self-locking nut 0.18
VT008 M6 big self-locking nut 0.42

VT012 M8 big self-locking nut 0.42

VT028 M10 flanged and knurled nut 0.60

FR020 Aluminium spacer ( for assembling brake pump and forth pipe ) 2.04

AR144GM Ø 10 x 27 mm rubber washer for seat 1.02

VT004 6 x 11 washer 0.18
VT019 6 x 18 washer 0.18
VT030 6 x 24 washer 0.18
VT009 8 x 13 washer 0.18

VT021 8 x 18 washer 0.18

VT027 10 x 21 washer 0.42

AR054GM Ø 20 x 6 mm rubber washer for floor plate 0.48
AR066AL Ø 30 x 8 mm printed washer for seat - Aluminium 2.40

AR064PL/GL Ø 30 x 8 mm printed washer for seat - Plastic - YELLOW colour 0.54
AR064PL/GR Ø 30 x 8 mm printed washer for seat - Plastic - GREY colour 0.54
AR064PL/NR Ø 30 x 8 mm printed washer for seat - Plastic - BLACK colour 0.54
AR064PL/RS Ø 30 x 8 mm printed washer for seat - Plastic - RED colour 0.54

AR229AL/TT Ø 25 x 10 mm flared washer for silencer holder - Aluminium - Anod. TITANIUM 2.04

AR055AL Ø 20 x 6 mm flared washer  - Aluminium - Anod. GOLD 1.68
AR055AL/BL Ø 20 x 6 mm flared washer  - Aluminium - Anod. BLUE 1.68
AR055AL/RS Ø 20 x 6 mm flared washer  - Aluminium - Anod. RED 1.68
AR055AL/TT Ø 20 x 6 mm flared washer  - Aluminium - Anod. TITANIUM 1.68


#����-���



#����-���
�3�	�
��
���

�������
�����
���
���

���
���
-�
��


Pricelist SKM 2003
Page 87



CODE ITEMS SPECIFICATION         Price

AR053PL/GL Ø 20 x 6  mm flared washer for floor plate - Plastic - YELLOW colour 0.48
AR053PL/GR Ø 20 x 6  mm flared washer for floor plate - Plastic - GREY colour 0.48
AR053PL/NR Ø 20 x 6  mm flared washer for floor plate - Plastic - BLACK colour 0.48
AR053PL/RS Ø 20 x 6  mm flared washer for floor plate - Plastic - RED colour 0.48

AR056AL Ø 22 x 8 mm flared washer  - Aluminium - Anod. GOLD 1.80
AR056AL/BL Ø 22 x 8 mm flared washer  - Aluminium - Anod. BLUE 1.80
AR056AL/RS Ø 22 x 8 mm flared washer  - Aluminium - Anod. RED 1.80
AR056AL/TT Ø 22 x 8 mm flared washer  - Aluminium - Anod. TITANIUM 1.80

AR065AL Ø 30 x 8 mm flared washer for seat - Aluminium - Anod. GOLD 2.22
AR065AL/BL Ø 30 x 8 mm flared washer for seat - Aluminium - Anod. BLUE 2.22
AR065AL/RS Ø 30 x 8 mm flared washer for seat - Aluminium - Anod. RED 2.22
AR065AL/TT Ø 30 x 8 mm flared washer for seat - Aluminium - Anod. TITANIUM 2.22

FS015 Ø 4 mm Safety snap ring for steering column 0.60

ST049 Brass lining 1.92

VT029 M6 x 20 crowned screw 0.42

VT016 M6 x 25 cylindrical head screw 0.42
VT014 M6 x 30 cylindrical head screw 0.60
VT007 M6 x 35 cylindrical head screw 0.78
VT006 M6 x 50 cylindrical head screw 1.20
VT033 M8 x 40 cylindrical head screw 1.56
VT017 M8 x 60 cylindrical head screw 1.62
VT023 M8 x 75 cylindrical head screw 2.04
VT011 M8 x 80 cylindrical head screw 2.04
VT026 M10 x 90 cylindrical head screw 2.04

VT013 M6 x 20 countersunk head screw 0.18
VT003 M6 x 25 countersunk head screw 0.42
VT024 M8 x 35 countersunk head screw 1.02
VT020 M8 x 40 countersunk head screw 1.62
VT034 M8 x 45 countersunk head screw 1.68
VT022 M8 x 60 countersunk head screw 1.92

AR242 M10 x 50 countersunk head screw, for silencer holder clamping 0.78


#����-���
�3�	�
��
���

�������
�����
���
���

���


Pricelist SKM 2003
Page 88



CODE ITEMS SPECIFICATION         Price

KV001 

���
�() �&�'���	�#-����

�#	���03 4.56
KIT KV001 Assembling
2 x VT013      - M6 x 20 countersunk head screw
2 x AR055AL - Ø 20 x 6 aluminium flared washer
2 x VT004      - 6 x 11 washer
2 x VT005      - M6 small self-locking nut

KV002 

���
�() �-����
��

�#	���03 11.46
KIT KV002 Assembling 
2 x AR094 - Pedal normal washer
1 x VT014 - M6 x 30 cylindrical head screw
2 x VT016 - M6 x 25 cylindrical head screw 
6 x VT015 - M6 small nut 
2 x VT017 - M8 x 60 cylindrical head screw
2 x VT009 - M8 x 13 washer 
2 x VT018 - M8 small self-locking nut 

KV003 

���
�() �
������0��������

�#	���03� 7.50
KIT KV003 Assembling 
3 x VT003      - 6 x 25 countersunk head screw
3 x VT004      - 6 x 11 washer
3 x AR055AL - Ø 6 aluminium flared washer
3 x VT005      - M6 small self-locking nut

KV004 

���
�() �
������0�
'��#���

�#	���03 5.46
KIT KV004 Assembling 
1 x VT007      - M6 x 35 cylindrical head screw
1 x VT004      - 6 x 11 washer
1 x VT008      - M6 big self-locking nut
1 x VT011      - 8 x 80 cylindrical head screw
1 x VT009      - 8 x 13 washer
2 x VT021      - 8 x 18 washer
2 x VT012      - M8 big self-locking nut
1 x FS015      - Safety snap ring

KV005 

���
�() �
���
����A����

�#	���03 1.62
KIT KV005 Assembling 
1 x VT006 - 6 x 50 cylindrical head screw
1 x VT004 - 6 x 11 washer
1 x VT005 - M6 small self-locking nut



���
�,���() �
��

�
���
'#-'����
�
-�
�&�
���'�

Pricelist SKM 2003
Page 89



CODE ITEMS SPECIFICATION         Price

KV006 

���
�() ������'�
�'��
������0�
'��#���

�#	���03 12.30
KIT KV006 Assembling 
2 x VT022      - 8 x 50 countersunk head screw
4 x VT009      - 8 x 13 washer
2 x AR056AL  - Ø 22 x 8 aluminium flared washer
2 x ST049      - Brass lining 
2 x VT012      - M8 big self-locking nut

KV007 

���
�() ������'�
�'��&�'���
-�������

�#	���03 8.04
KIT KV007 Assembling 
2 x VT020      - 8 x 40 countersunk head screw
2 x AR056AL  - Ø 22 x 8 aluminium flared washer
4 x VT009      - 8 x 13 washer
2 x VT021      - 8 x 18 washer 
2 x VT012      - M8 big self-locking nut

KV008 

���
�() �&�''��-������

�#	���03 17.70
KIT KV008 Assembling 
2 x VT013       - 6 x 20 countersunk head screw
2 x VT004       - 6 x 11 washer
2 x VT005       - M6 small self-locking nut
6 x AR055AL   - Ø 6 aluminium flared washer
4 x VT003       - 6 x 25 countersunk head screw
4 x AR054       - Ø 6 rubber washer   
4 x VT019       - 6 x 18 washer 
4 x VT008       - M6 big self-locking nut

KV009 

���
�() �0������A����

�#	���03 6.06
KIT KV009 Assembling 
2 x VT023 - 8 x 75 cylindrical head screw 
6 x VT009 - 8 x 13 washer
2 x VT012 - M8 big self-locking nut

KV010 

���
�() �
����	�#-��
��

�#	���03 5.64
KIT KV010 Assembling 
4 x VT007 - 6 x 35 cylindrical head screw
4 x VT004 - 6 x 11 washer
4 x VT008 - M6 big self-locking nut

KV011 

���
�() �
����-'�
��

�#	���03 18.06
KIT KV011 Assembling 
12 x VT029 - 6 x 20 crowned screw
12 x VT030 - 6 x 24 washer
12 x AR054 - Ø 6 rubber washer   
12 x VT008 - M6 big self-locking nut



���
�,���() �
��

�
���
'#-'����
�
-�
�&�
���'�

Pricelist SKM 2003
Page 90



CODE ITEMS SPECIFICATION         Price

KV012 

���
�() �
�����

�#	���03 18.00
KIT KV012 Assembling 
2 x VT022       - 8 x 50 countersunk head screw
2 x VT024       - 8 x 35 countersunk head screw
4 x AR065       - Aluminium 30 x 8 flared washer
2 x AR144GM  - Ø 10 x 27 rubber washer
4 x VT021       - 8 x 18 washer 
4 x VT012       - M8 big self-locking nut

KV013 

���
�() �	��,��-�#-
�'��*2��

+�
��

�
��

�#	���03 9.24
KIT KV013 Assembling 
2 x VT023 - 8 x 75 cylindrical head screw
2 x FR020 - Aluminium spacer 
2 x VT009 - 8 x 13 washer
2 x VT012 - M8 big self-locking nut

KV014 

���
�() �&'����-�-���

�#	���03 8.88
KIT KV014 Assembling 
1 x VT011 - 8 x 80 cylindrical head screw
3 x FR020 - Aluminium spacer
2 x VT009 - 8 x 13 washer
1 x VT012 - M8 big self-locking nut

KV015 

���
�() �	��,��
���-����

�#	���03 7.68
KIT KV015 Assembling 
2 x VT026 - 10 x 90 cylindrical head screw
4 x VT027 - 10 x 21 washer
2 x VT028 - M10 flanged and knurled nut

KV016 

���
�() �������-�#-��

�#	���03 2.04
KIT KV016 Assembling 
1 x VT006 - 6 x 50 cylindrical head screw
2 x VT004 - 6 x 11 washer
1 x VT008 - M6 big self-locking nut

KV017 

���
�() �	�����0�	�
��
��

�#	���03 30.84
KIT KV017 Assembling 
9 x VT020      - 8 x 40 countersunk head screw
9 x AR056AL - Ø 22 x 8 aluminium flared washer
9 x VT009      - 8 x 13 washer
9 x VT018      - M 8 small self-locking nut



���
�,���() �
��

�
���
'#-'����
�
-�
�&�
���'�

Pricelist SKM 2003
Page 91



CODE ITEMS SPECIFICATION         Price

KV018 

���
�() ���
,�'��	��,����
,�
�--'����

�#	���03 8.46
KIT KV018 Assembling 
6 x VT029 - 6 x 20 crowned screw
6 x VT004 - 6 x 11 washer
6 x VT005 - M 6 small self-locking nut

KV019 

���
�() �
-�'
,���'��
-�'
,���
�--'����

�#	���03 13.32
KIT KV019 Assembling:
  6 x VT029 - 6 x 20 crowned screw
12 x VT004 - 6 x 11 washer
  6 x VT005 - M 6 small self-locking nut

KV020 

���
�() ���#	���-������

�#	���03 5.04
KIT KV020 Assembling:
2 x VT013      - 6 x 20 countersunk head screw
2 x AR055AL - Ø 6 aluminium flared washer
2 x VT004      - 6 x 11 washer
2 x VT005      - M6 small self-locking nut

KV025 

���
�() �
��#-��0�	��,��-�#-�*���

+��'�
��

�
3 5.58
KIT KV025 Assembling:
2 x VT033 - 8 x 40 cylindrical head screw
2 x VT009 - 8 x 13 washer
2 x VT012 - M8 big self-locking nut

KV026 

���
�() �
��#-��0�	�����0�	�
��
���'�
��

�
3 47.40
KIT KV026 Assembling:
8 x VT020      - 8 x 40 countersunk head screw
9 x VT009      - 8 x 13 washer 
8 x VT018      - M 8 small self-locking nut
9 x AR056AL - Ø 22 x 8 aluminium flared washer
1 x VT034      - 8 x 45 countersunk head screw 
1 x VT012      - M8 big self-locking nut

KV021 Bolts and nuts KIT for a 100 cc. chassis 271.15
KV022 Bolts and nuts KIT for a 125 cc. chassis 335.70

KV023 Special Bolts and Nuts KIT  "ULTRA-LIGHT" for a 100 cc. chassis 903.80
KV024 Special Bolts and Nuts KIT  "ULTRA-LIGHT" for a 125 cc. chassis 1,084.55



���
�,���() �
��

�
���
'#-'����
�
-�
�&�
���'�

	'��
��������
�,���
��������������������0���() �
��

�


Pricelist SKM 2003
Page 92



CODE ITEMS SPECIFICATION         Price

ST114NB Steering locking bush with threaded pins - "New BLACK" 5.68

AR278NB Cylindrical 495 mm gear-rod - AL - "New BLACK" 12.14

AR279NB Hexsagonal 495 mm gear-rod - AL - "New BLACK" 12.65

ST115NB M8 x 255 mm drilled cylindrical steering tie-rod - AL - "New BLACK" 8.52
ST116NB M8 x 260 mm drilled cylindrical steering tie-rod - AL - "New BLACK" 8.52
ST117NB M8 x 265 mm drilled cylindrical steering tie-rod - AL - "New BLACK" 8.52
ST118NB M8 x 270 mm drilled cylindrical steering tie-rod - AL - "New BLACK" 8.52

ST119NB M8 x 255 mm solid cylindrical steering tie-rod - AL - "New BLACK" 14.51
ST120NB M8 x 260 mm solid cylindrical steering tie-rod - AL - "New BLACK"  14.51
ST121NB M8 x 265 mm solid cylindrical steering tie-rod - AL - "New BLACK" 14.51
ST122NB M8 x 270 mm solid cylindrical steering tie-rod - AL - "New BLACK" 14.51

ST123NB M8 x 255 mm drilled Hexagonal steering tie-rod - AL - "New BLACK" 9.52
ST124NB M8 x 260 mm drilled Hexagonal steering tie-rod - AL - "New BLACK" 9.52
ST125NB M8 x 265 mm drilled Hexagonal steering tie-rod - AL - "New BLACK" 9.52
ST126NB M8 x 270 mm drilled Hexagonal steering tie-rod - AL - "New BLACK" 9.52

AR280NB Outside bumper normal washer - AL - "New BLACK" 2.84

AR281NB Ø 30 mm inside bumper normal washer - AL - "New BLACK" 3.36

AR282NB Ø 32 mm inside bumper normal washer - AL - "New BLACK" 3.36

FR099NB Front braking group KIT for 125 cc. - 4 Pistons - "New BLACK" 808.01  

GC019NB Bearing bush Ø 40 mm - 2002 Mod. - 4 Holes clamping - "New BLACK" 42.35  

GC020NB Bearing bush Ø 50 mm - 2002 Mod. - 4 Holes clamping - "New BLACK" 44.42

MZ048NB Front wheel hub for 100 cc. with bearings - 75 mm long - "New BLACK" 47.77

MZ049NB Front wheel hub for 100 cc. with bearings - 95 mm long - "New BLACK" 50.35

MZ050NB Wheel hub Ø 40 x 65 mm - 8 mm key - with separable ring - "New BLACK" 35.89

MZ051NB Wheel hub Ø 40 x 95 mm - 8 mm key  - "New BLACK" 46.74

2��2������
'#-'����
�����������	�

Pricelist SKM 2003
Page 93



CODE ITEMS SPECIFICATION         Price

MZ052NB Wheel hub Ø 40 x 125 mm - 8 mm key  -  "New BLACK" 58.10

MZ053NB Wheel hub Ø 50 x 95 mm - 8 mm key  - "New BLACK" 50.35

MZ054NB Wheel hub Ø 50 x 125 mm - 8 mm key  - "New BLACK" 64.04

ST127NB Inclined steering wheel hub for 100 cc. - AL - "New BLACK" 54.00

ST128NB Steering wheel hub for 100 cc. - AL - "New BLACK" 17.82

ST129NB Steering wheel hub for 125 cc. - AL - "New BLACK" 40.88

AR283NB Floor plate for 100 cc. and 125 cc. - "New BLACK" 85.22

FR100NB Rear brake caliper 4 Pistons - 60 mm interax. Space - Complete - "New BLACK" 170.02

AR284NB M10 gear lever handle, anatomical model – AL - "New BLACK" 13.43

FR101NB Brake Pump "Dual Piston" Mod. (13 - 13) for 100 cc - Assembled - "New BLACK" 131.95

FR102NB Ø 22 mm brake pump - Assembled with FIXED lever - "New BLACK" 56.04

FR103NB Ø 22 mm brake pump - Assembled with ADJUSTABLE lever - "New BLACK" 59.85

PC017NB Sprocket support Ø 40 mm - 8 mm key - H.Q. type - "New BLACK" 60.32

PC018NB Sprocket support Ø 50 mm - 8 mm key - H.Q. type - "New BLACK" 60.32

PD023NB Brake disk support Ø 40 mm - 8 mm key - H.Q. type - "New BLACK" 51.65

PD024NB Brake disk support Ø 50 mm - 8 mm key - H.Q. type - "New BLACK" 51.65

GT026NB Ø 50 mm pulley - "New BLACK" 30.99

2��2������
'#-'����
�����������	�

Pricelist SKM 2003
Page 94



CODE ITEMS SPECIFICATION         Price

AR285NB Ø 20 x 6 mm flared washer  - AL - "New BLACK" 1.41

AR286NB Ø 22 x 8 mm flared washer  - AL - "New BLACK" 1.51

AR287NB Ø 30 x 8 mm flared washer for seat - AL - "New BLACK" 1.86

AR288NB Ø 30 x 10 mm seat lining  - AL - "New BLACK" 3.74

AR289NB Ø 30 x 18 mm seat lining  - AL - "New BLACK" 4.26

AR290NB Ø 32 x 90 mm silencer support for 125 cc. - "New BLACK" 48.55

AR291NB Ø 32 x 92 mm silencer support for 125 cc. - "New BLACK" 49.17

AR292NB Chain stretcher support for 100 cc. and 125 cc. - "New BLACK" 27.89

2��2������
'#-'����
�����������	�

Pricelist SKM 2003
Page 95


